UGC NET 2022 ENVIRONMENTAL SCIENCES

Topic:- 89_PARTA_S2

1)
The grain size (USDA) of silt in soil ranges between

1.2 mm to 0.5 mm
2.05 mmte'0.1 mm
3.0.1 mm te'0.05 mm

4, 0.05 mm to 0.002 mm

[Question ID = 647][Question Description = 101_89_EMS_SEP22_S2_Q01]
1. 1 [Option ID = 2585]
2. 2 [Option ID = 2586]
3. 3 [Option ID = 2587]
4. 4 [Option ID = 2588]

2)
What will be BODs for a wastewater sample when 21 ml of sample is diluted to 300 m| in BOD

bottle to determine dissolved oxygen.
[Given: Initial DO3 = 10 mg/| ; Five days later DOs = 5 mg/]

1.~ 5 g/l
2.~ 25 mg/l
3.~ 714 mg/l
4, ~ 75 mg/l

[Question ID = 648][Question Description = 102_89_EMS_SEP22_S2_Q02]
1. 1 [Option ID = 2589]
2. 2 [Option ID = 2590]
3. 3 [Option ID = 2591]
4. 4 [Option ID = 2592]

3)
What will be the concentration of 40 ppb SO in ug/m? unit at 25°C?

~0.04 pgfm3

~1047 pg/m?
~104.7 pg/m?
~10.47 pg/m?

i

[Question ID = 649][Question Description = 103_89_EMS_SEP22_S2_Q03]
1. 1 [Option ID = 2593]
2. 2 [Option ID = 2594]
3. 3 [Option ID = 2595]
4. 4 [Option ID = 2596]



4)
MNational Ambient air quality standards typically include following compaonents

1. Maximum and Minimum pellutant levels; adjustment for co-pollutants

2, Abetment strategies, non-attainmient penalties

3. Ambient temperature, size distribution and relative humidity

4, Indicator {Chemical/Chemical class), Averaging time, Pollutant form and level

[Question ID = 650][Question Description = 104_89_EMS_SEP22_S2_Q04]
1 [Option ID = 2597]
2 [Option ID = 2598]
3 [Option ID = 2599]
4 [Option ID = 2600]

A wnN -

5)
Primary air pollutants differ from secondary air pollutants as they

1. are present in levels that can be weighed on filter paper.

2, are directly emitted from identified sources,

3, have undergone chemical transformation in air after release from identified sources.
4, are designated as hazardous air pollutants,

[Question ID = 651][Question Description = 105_89_EMS_SEP22_S2_QO05]
1 [Option ID = 2601]
2 [Option ID = 2602]
3 [Option ID = 2603]
4 [Option ID = 2604]

AN wnN =

6)
Continuity equation expresses the law of conservation of

1. Momentum
2. Mass

3. Entropy

4, Energy

[Question ID = 652][Question Description = 106_89_EMS_SEP22_S2_Q06]
1 [Option ID = 2605]
2 [Option ID = 2606]
3 [Option ID = 2607]
4 [Option ID = 2608]

A wWw N =

7)
Which of the following statements correctly represent the environmental wisdom worldwide?

1. Qur success depends‘on how well we manage the earth’s life support systems mostly for our
benefits.

2. Our success depends on how well we manage the earth's life support systems fer our
benefit and forthe rest of nature.

3, Our 'success depends on learning how nature sustains itself and integrating such lessons
from nature into the ways we think.

4, Our suecess depends on using environmentally beneficial forms of econoemic growth and
discourage environmentally harmful forms.

[Question ID = 653][Question Description = 107_89_EMS_SEP22_S2_Q07]
1 [Option ID = 2609]
2 [Option ID = 2610]
3 [Option ID = 2611]
4 [Option ID = 2612]

AN wN -



8)
Exposure concantration is;

1. the amount of the chemical that is received by the target.

2. the amount of chemical present in the medium with which an Organism has contact.
3. the amount of the chemical that is excreted by the'target.

4, the amount of the chemical that is metabolized by the target.

[Question ID = 654][Question Description = 108_89_EMS_SEP22_S2_Q08]
1 [Option ID = 2613]
2 [Option ID = 2614]
3 [Option ID = 2615]
4 [Option ID = 2616]

A wnN =

9)
In ecotexicology studies, ED-50 is

1. the dose that affects 50% of the population or abserved subjects,
2, the dose that affects 95% of the population or observed subjects.
3. the dose that affects 25% of the population or observed subjects.
4, the dose that do not affect 50% of the total population.

[Question ID = 655][Question Description = 109_89_EMS_SEP22_S2_Q09]
1 [Option ID = 2617]
2 [Option ID = 2618]
3 [Option ID = 2619]
4 [Option ID = 2620]

N wnN -

10)
A hypothesis, that predicts:a linear relationship in which rate of ecosystermn processes is maximum

with greatest number of species, is known as-

1. Rivet-popper hypothesis:
2, Redundancy hypothesis,
3. Diversity-stability hypethesis.
4, |diosyncratic hypothesis.

[Question ID = 656][Question Description = 110_89_EMS_SEP22_S2_Q10]
1 [Option ID = 2621]
2 [Option ID = 2622]
3 [Option ID = 2623]
4 [Option ID = 2624]

AN wnN -

11)
Which of the following is not a phase of secondary succession?

1. Initiation

2. Continuation
3. Termination
4, Invasion

[Question ID = 657][Question Description = 111_89_EMS_SEP22_S2_Q11]
1 [Option ID = 2625]
2 [Option ID = 2626]
3 [Option ID = 2627]
4 [Option ID = 2628]

A wN =



12)
The Concept of r- and k- selection was ariginally given by

1. MacArthur and Wilsen (1967)
2. Grime (1979)

3. Molles {2008)

4, Mayr (1942}

[Question ID = 658][Question Description = 112_89_EMS_SEP22_S2_Q12]
1 [Option ID = 2629]
2 [Option ID = 2630]
3 [Option ID = 2631]
4 [Option ID = 2632]

A wnN -

13)
The prefix "stenc” and "eury” have been used for

1. comparing the relative degree of tolerance of an-organism to a given environmental factor,
2, comparing the body size of organisms occurfing in a given habitat.

3, comparing the metabolic activity of organisms in a given habitat.

4, comparing the distribution limits ef arganisms occurring across a biome.

[Question ID = 659][Question Description = 113_89_EMS_SEP22_S2_Q13]
1 [Option ID = 2633]
2 [Option ID = 2634]
3 [Option ID = 2635]
4 [Option ID = 2636]

AN wnN -

14)
The strong and rapidly moving circumpolar upper air westerly circulation in a narrow belt of a few

hundred kilometers width in the upper limit of the tropasphere, is called

1. Rossby waves,

2, let streams,

3, Walker streams.

4, Hadley Circulation,

[Question ID = 660][Question Description = 114_89_EMS_SEP22_S2_Q14]
1 [Option ID = 2637]
2 [Option ID = 2638]
3 [Option ID = 2639]
4 [Option ID = 2640]

AW N =

15)
Coriolis effect is

1.the influence of Earth's rotations, which tends o turn air towards the right in the Northern
Hemisphere.

2.the influence of Earth's: rotation, which tends to turn air upwards in the Northern
Hemisphere.

3, the influence of Earth's rotation which tends to turn air tewards the left in the Nerthern
Hemisphere.

4 the influence of Earth's rotation, which tends to turm air downwards in the Northem
Hemisphera.

[Question ID = 661][Question Description = 115_89_EMS_SEP22_S2_Q15]
1. 1 [Option ID = 2641]
2. 2 [Option ID = 2642]
3. 3 [Option ID = 2643]



4. 4 [Option ID = 2644]

16)
The boundary between fresh and salty groundwater along shorelines is determined by

1. rechiarge and Discharge in freshwater aguifer.
2, compaosition of salty and fresh groundwater.
3. rainfall,

4, nature of aquifer,

[Question ID = 662][Question Description = 116_89_EMS_SEP22_S2_Q16]
1 [Option ID = 2645]
2 [Option ID = 2646]
3 [Option ID = 2647]
4 [Option ID = 2648]

A wpN =

17)
The sum of diffused and direct solar radiation, is called

1, continental solar radiation.
2, global sclar radiation.

3, total selar radiation.

4, universal solar radiation,

[Question ID = 663][Question Description = 117_89_EMS_SEP22_S2_Q17]
1 [Option ID = 2649]
2 [Option ID = 2650]
3 [Option ID = 2651]
4 [Option ID = 2652]

AN wnN -

18)
Which one of the following elements is used in making Photovoltaic Solar cell 7

1. Tungsten
2, Silver

3, Lead

4 Silicon

[Question ID = 664][Question Description = 118_89_EMS_SEP22_S2_Q18]
1 [Option ID = 2653]
2 [Option ID = 2654]
3 [Option ID = 2655]
4 [Option ID = 2656]

AW N =

19)
The destructive distillation of coal yielding products such as gasoline, diesel oil and other

products, is known as

1. gasification
2, precipitation
3. condensatien
4, liguefaction

[Question ID = 665][Question Description = 119_89_EMS_SEP22_S2_Q19]
1 [Option ID = 2657]
2 [Option ID = 2658]
3 [Option ID = 2659]
4 [Option ID = 2660]

A w N =



20)
Which process facilitates conversion of raw fat into-biediesel in the presence of alcohol?

1. Glycerol conversion
2. Saccharification

3. Tarrefaction

4, Transesterification

[Question ID = 666][Question Description = 120_89_EMS_SEP22_S2_Q20]
1 [Option ID = 2661]
2 [Option ID = 2662]
3 [Option ID = 2663]
4 [Option ID = 2664]

D wnN -

21)
Which plant/tree has been recommended in India for extraction of biodiesel?

1. Whieat (Triticur aestiviim)

2, Sugarcarne (Saccharum officinarum)
3, Mango (Mangifera indica)

4, Karanja (Pongamia pinnata)

[Question ID = 667][Question Description = 121_89_EMS_SEP22_S2_Q21]
1 [Option ID = 2665]
2 [Option ID = 2666]
3 [Option ID = 2667]
4 [Option ID = 2668]

AN wnN =

22)
Anammox bacteria is required for which of the following steps in wastewater freatment?

1. Nitrate to Nitrite conversion

2, Nitrite to Nitrate conversion

3. Maolecular Nitrogen te Ammaonia conversion

4, Ammonium iento Melecular Nitrogen conversion

[Question ID = 668][Question Description = 122_89_EMS_SEP22_S2_Q22]
1 [Option ID = 2669]
2 [Option ID = 2670]
3 [Option ID = 2671]
4 [Option ID = 2672]

A wWw N =

23)
Which of the following is an INCORRECT statement?

1. Humus represents organic matter, dark in colour.

2. Acid soils are devoid of basic cations.

3. Humus contains cellulose and hemi cellulose.

4, Humic: and fulvic acids in humus form hydrophobic colloid whereas clay colloids are
hydrophilic in nature,

[Question ID = 669][Question Description = 123_89_EMS_SEP22_S2_Q23]
1 [Option ID = 2673]
2 [Option ID = 2674]
3 [Option ID = 2675]
4 [Option ID = 2676]

A wN =



24)
The use of bacteria and other microorganisms to breakdown hazardous waste into relatively

harmless components, is termed as

1. phyto remediation.

2. source reduction process.

3. integrated waste management,
4, bioremediation.

[Question ID = 670][Question Description = 124_89_EMS_SEP22_S2_Q24]
1 [Option ID = 2677]
2 [Option ID = 2678]
3 [Option ID = 2679]
4 [Option ID = 2680]

A wpN =

25)
Which of the following is INCORRECT about the given decomposition reaction 7

2CH,0 Bacteria CHy + CO,
.
(1) PINE)

1. All carbon in (1) is oxidized.

2. Some Carbon in (1) is oxidized and some is reduced.
3. This is an example of fermentation.

4, It produces gas that some time caiches fire.

[Question ID = 671][Question Description = 125_89_EMS_SEP22_S2_Q25]
1 [Option ID = 2681]
2 [Option ID = 2682]
3 [Option ID = 2683]
4 [Option ID = 2684]

AN wnN -

26)
Heavy metals are retained in seil/sludge by

1. complexation by humic substances in organic particles
2, absorption on to surface of mineral particles

3. precipitation reaction

4, solubilization ir acidic conditions

[Question ID = 672][Question Description = 126_89_EMS_SEP22_S2_Q26]
1 [Option ID = 2685]
2 [Option ID = 2686]
3 [Option ID = 2687]
4 [Option ID = 2688]

A wN =

27)
There is often a formal review and licensing procedures of Environmental Impact

Assessment. Who would NOT carry out such a procedure 7

1. The proponent of the development project.

2, The local government autherity ultimately responsible for licensing development project.

3. Another government agency which can be given responsibility for licensing development
project.

4, An independent body having knowledge of the development project.

[Question ID = 673][Question Description = 127_89_EMS_SEP22_S2_Q27]
1. 1 [Option ID = 2689]
2. 2 [Option ID = 2690]



3. 3 [Option ID = 2691]
4. 4 [Option ID = 2692]

28)
As per United Nations Framework Convention on Climate Change (UNFCC), which of the following

has role in the assessment and review of the effective implementation of the convention?

1. Subssidiary Body for Scientific and Technical Advice (SBSTA)
2, Subssidiary Body for Implemeritation(SBI)

3, The Conference of Parties (COP)

4, The Climate Change Secretariat

[Question ID = 674][Question Description = 128_89_EMS_SEP22_S2_Q28]
1 [Option ID = 2693]
2 [Option ID = 2694]
3 [Option ID = 2695]
4 [Option ID = 2696]

AN wnN -

29)
"A financial mechanism through which develeping countries would be rewarded for emission

reduction achieved by taking action to reduce deforestation and forest degradation” refers to

1. Clean Develepment Mechanism,

2, Global Forest Carbon Mechanism.

3., Reduced Emission from Deforestation and Farest Degradation.
4, Incentive - Compatible Selection Mechanism,

[Question ID = 675][Question Description = 129_89_EMS_SEP22_S2_Q29]
1 [Option ID = 2697]
2 [Option ID = 2698]
3 [Option ID = 2699]
4 [Option ID = 2700]

AN wN -

30)
Which of the following principle was introduced in 1972 by the Organization for Econemic

Cooperation and Development (OECD) guiding principles concerning Institutional Economic
Aspects af Environmental Pollution?

1. Frontier Diplomacy Principle

2, Polluter Pays Principle

3, Human Righis and Envirenment Principle
4, Principle of Environment Protection

[Question ID = 676][Question Description = 130_89_EMS_SEP22_S2_Q30]
1 [Option ID = 2701]
2 [Option ID = 2702]
3 [Option ID = 2703]
4 [Option ID = 2704]

AW N =

31)
Which section of Envircnmental (Protection) Act, 1986 d=als with offences by companies?

1. Article 13
2. Article 14
3. Article 16
4, Article 18

[Question ID = 677][Question Description = 131_89_EMS_SEP22_S2_Q31]
1. 1 [Option ID = 2705]



2. 2 [Option ID = 2706]
3. 3 [Option ID = 2707]
4. 4 [Option ID = 2708]

32)
Which Article of the Constitution of India states that it'shall be the duty of every citizen of India to

protectand improve the natural environment and to have compassion for living creatures 7

1. Article 4BA
2. Article 5TA
3. Article 21A
4, Article 13A

[Question ID = 678][Question Description = 132_89_EMS_SEP22_S2_Q32]
1 [Option ID = 2709]
2 [Option ID = 2710]
3 [Option ID = 2711]
4 [Option ID = 2712]

A w N =

33)
Which among the following is the first major Environmental Protection act to be promulgated in

India ?

1. Bialogical Diversity Act

2, Environmental Protection Act
3. Forest Conservation Act

4 Wildlife Protection Act

[Question ID = 679][Question Description = 133_89_EMS_SEP22_S2_Q33]
1 [Option ID = 2713]
2 [Option ID = 2714]
3 [Option ID = 2715]
4 [Option ID = 2716]

A wpN =

34)
Which of the following sections of the Indian Penal code refers to making atmosphere noxious to

health as a punishable offence?

1. Section 275
2. Section 276
3. Section 277
4, Sertion 288

[Question ID = 680][Question Description = 134_89_EMS_SEP22_S2_Q34]
1 [Option ID = 2717]
2 [Option ID = 2718]
3 [Option ID = 2719]
4 [Option ID = 2720]

A wpN =



35)
Which of the following is NOT included during Environmental Impact Assessment (EI&) 7

1. A detailed assessment of the planned project and selected alternative compared to the
baseline conditions,

2. Qualitative description measuring highet, medium and low impacts.

3. Quantitative description measuring physical values of water withdrawal, sewage
produced and pollutants released.

4 All the data collection, analysis and developed plans summarized together i a well-
structured and concise documents.

[Question ID = 681][Question Description = 135_89_EMS_SEP22_S2_Q35]
1 [Option ID = 2721]
2 [Option ID = 2722]
3 [Option ID = 2723]
4 [Option ID = 2724]

A wnN =

36)
To find out the degree of linear relationship between age and height of trees, the parameter to be

estimated is:

1. Standard Error

2. Correlation coefficient
3. Median

4, Standard deviation

[Question ID = 682][Question Description = 136_89_EMS_SEP22_S2_Q36]
1 [Option ID = 2725]
2 [Option ID = 2726]
3 [Option ID = 2727]
4 [Option ID = 2728]

A wpN =

37)
The Coefficient of Variation can be measured by

1. (Mean/Standard deviation) x 100
2, (Median/Standard deviation) x 100
3, (Standard deviation/Mean) x 100
4 (Standard deviation/ Median) x100

[Question ID = 683][Question Description = 137_89_EMS_SEP22_S2_Q37]
1 [Option ID = 2729]
2 [Option ID = 2730]
3 [Option ID = 2731]
4 [Option ID = 2732]

A wnN -

38)
Which of the following is @ nominal variable?

. Level of rainfall (Mild, Mederate, Severe)
.Bload group type ( A, B, AB, O)
. Height of a tree

J5 WM —-

. Socio-economic status (Lew, Middle, High)

[Question ID = 684][Question Description = 138_89_EMS_SEP22_S2_Q38]
1 [Option ID = 2733]
2 [Option ID = 2734]
3 [Option ID = 2735]
4 [Option ID = 2736]

AN wN -



39)
‘Hysteresis® is the best defined as:

1. A change occurring at a steady rate where rate is defined by the directions of change,

2. A change accurring at a steady rate followed by sudden increased rate catastrophically.

3. A change that occurs at steady rate and maintains sc.

4, A change that is sudden non-linear between two stable states without the prospect of
reverse.

[Question ID = 685][Question Description = 139_89_EMS_SEP22_S2_Q39]
1 [Option ID = 2737]
2 [Option ID = 2738]
3 [Option ID = 2739]
4 [Option ID = 2740]

A wpN =

40)
Which one of the following is correctly matched pair?

1. Biodiversity Conservation - Basel Convention
2, Glabal Warming - Montreal Protacol

3, Climate Change - Kyoto Protocol

4, Groundwater Pollution - Ramsar Convention

[Question ID = 686][Question Description = 140_89_EMS_SEP22_S2_Q40]
1 [Option ID = 2741]
2 [Option ID = 2742]
3 [Option ID = 2743]
4 [Option ID = 2744]

N wnN =

41)
Who ameng the following received Noble Prize for peace and started the Green Belt Movement?

1. Rajendra K. Pachauri

2, Wagai M. Matthai

3. Jim Bohlen

4, Gro Harlem Brundtland

[Question ID = 687][Question Description = 141_89_EMS_SEP22_S2_Q41]
1 [Option ID = 2745]
2 [Option ID = 2746]
3 [Option ID = 2747]
4 [Option ID = 2748]

AN wnN -

42)
Genetic:Engineering is:possible because

1. Restriction endonucleases purified from bacteria can be used in vitro,
2. The phenomenon of transduction in bacteria is well understood.

3. We can cut DNA at specific sites by endenucleases like DNase.

4, We can see DNA by electron microscope.

[Question ID = 688][Question Description = 142_89_EMS_SEP22_S2_Q42]
1 [Option ID = 2749]
2 [Option ID = 2750]
3 [Option ID = 2751]
. 4 [Option ID = 2752]

A w N =



43)
LEED, one of the Sustainable Habitat green rating systems, refers to:

1. Leadership in Energy and Efficiency Design

2. Leadership in Energy and Efficiency Document

3. Leadership in Energy and Environment Design

4, Leadership in Energy and Environment Document

[Question ID = 689][Question Description = 143_89_EMS_SEP22_S2_Q43]
1 [Option ID = 2753]
2 [Option ID = 2754]
3 [Option ID = 2755]
4 [Option ID = 2756]

A wnN =

44)
‘Prerak Dauur Samman’, the annual award given under which of the following scheme of

Government of India?

1, Smart Cities

2, Namami Gange

3. Swachh Bharat Abhiyan
4, Green India Mission

[Question ID = 690][Question Description = 144_89_EMS_SEP22_S2_Q44]
1 [Option ID = 2757]
2 [Option ID = 2758]
3 [Option ID = 2759]
4 [Option ID = 2760]

AN wnN -

45)
Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R
Assertion A : Active ingredient in most pesticides are organic chlorine compounds,

Reason R : Organo chlorines have low solubility in water, high selubility in hydrocarben like
environment and have relatively high toxicity to insects and low toxicity to humans.

In light of the above statements, thoose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but Ris true

[Question ID = 691][Question Description = 145_89_EMS_SEP22_S2_Q45]
1 [Option ID = 2761]
2 [Option ID = 2762]
3 [Option ID = 2763]
4 [Option ID = 2764]

A wnN =



46)

Given below are two statements, cne is labelled as Assertion A and the other is |abelled as
Reason R

Assertion A : Temperature of large waterbody varies more slowly than that of the land of
comparable size.

Reason R : Specific heat of water is high i.e., about five times of soil.
In light of the above statements, cthoose the correct answer from the options given belew

1. Both A and R are true and R is the carrect explanation-of A

2, Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. Ais false but Ris true

[Question ID = 692][Question Description = 146_89_EMS_SEP22_S2_Q46]

AN wnN -

47)

1 [Option ID = 2765]
2 [Option ID = 2766]
3 [Option ID = 2767]
4 [Option ID = 2768]

Given below are two statements, one is labelled as Assertion A and the other is |abelled as
Reason R

Assertion A : Small increase in wind velocity and height of turbine produces a large increase
in energy yield,

Reason R : Energy yield from wind is proportional to third power of wind speed and wind speed
increases with height above ground.

In light of the above statements, thoose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but Ris true

[Question ID = 693][Question Description = 147_89_EMS_SEP22_S2_Q47]

A wN =

1 [Option ID = 2769]
2 [Option ID = 2770]
3 [Option ID = 2771]
4 [Option ID = 2772]



48)

Given below are two statements, cne is labelled as Assertion A and the other is |abelled as
Reason R

Assertion A : o and P particles, emitted during a radicactive decay of a nucleus are simply
nucleus of Heliumy and electron and are called as ionizing radiations,

Reason R: o and B particles produced in the radicactive decay are ejected with an incredible
amount of energy of motion. When this energy is absorbed by matter encountered by
the particie, it often ionises atoms and molecules,

In light of the above statements, choocse the correct answer from the options given below

1. Both A and R are true and R is the correct explanation-of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but R is true

[Question ID = 694][Question Description = 148_89_EMS_SEP22_S2_Q48]

D wnN -

49)

1 [Option ID = 2773]
2 [Option ID = 2774]
3 [Option ID = 2775]
4 [Option ID = 2776]

Given below are two statements, one is labelled as Assertion A and the other is |abelled a=

Reason R

Assertion A : Cool pavements are generally composed of light coloured material with high

permeability,

Reason R : Lighter coloured pavements reflect more light and absorb less heat. High permeability
allew water to percolate and evaporate, thereby cosling pavement and surrounding air.

In light of the above statements, thoose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, A is false but Ris true

[Question ID = 695][Question Description = 149_89_EMS_SEP22_S2_Q49]

AW N =

1 [Option ID = 2777]
2 [Option ID = 2778]
3 [Option ID = 2779]
4 [Option ID = 2780]



50)

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Dematerialization, the progressive decrease in size and weight of a product as a
result of technaological improvement is an example of source reduction.

Reason R : New product is'more durable than the one being replaced.
In light of the above statements, cthoose the correct answer from the options given belew

1. Both A and R are true and R is the carrect explanation-of A

2, Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. Ais false but Ris true

[Question ID = 696][Question Description = 150_89_EMS_SEP22_S2_Q50]

N wnN -

51)

1 [Option ID = 2781]
2 [Option ID = 2782]
3 [Option ID = 2783]
4 [Option ID = 2784]

Arrarige the following elements of image interpretations in order of increasing complexity
A, Location

B. Tone

C. Situation

D. Pattern

E. Texture

Choose the correct answer from the options given below

1.4 B D CE
2ABEDC
3.CEDERBA
4 EBADC

[Question ID = 697][Question Description = 151_89_EMS_SEP22_S2_Q51]

AW N =

1 [Option ID = 2785]
2 [Option ID = 2786]
3 [Option ID = 2787]
4 [Option ID = 2788]



A wnN =

52)

Basalts are composed of the following minerals:

A, Olivine

B. Pyroxene

C. Quartz

D. Ortheclase

E, Plagioclase

Choose the correct answer from the options given below

1.4, Band Conly
2.A BandDonly
3.A BandEonly
4. B Cand D only

[Question ID = 698][Question Description = 152_89_EMS_SEP22_S2_Q52]

53)

. 1 [Option ID = 2789]
2 [Option ID = 2790]
3 [Option ID = 2791]
4 [Option ID = 2792]

Arranige the following minerals with increasing order of stability for weathering,
A, llite

B, Olivine

C. Calcite

D. Ca rich feldspar

E. Narich feldspar

Choose the correct answer fram the options given below

B, D EA
B, CEDA
LB EDA
ZC B D EA

LD -

[Question ID = 699][Question Description = 153_89_EMS_SEP22_S2_Q53]

AN wnN =

1 [Option ID = 2793]
2 [Option ID = 2794]
3 [Option ID = 2795]
4 [Option ID = 2796]



54)

Choose the correct sequence of filtration processes used for sequential removal of particles:from
goarser (1 .um) to finer grain sizes.

A. Microfiliration

B. Ultrafiltration

C. Nanofiltration

D. Reverse Osmosis

Choose the correct answer from the options given below

1.0,C B A
2ABCD
3.0,CAB
4A8DC

[Question ID = 700][Question Description = 154_89_EMS_SEP22_S2_Q54]

A wnN =

1 [Option ID = 2797]
2 [Option ID = 2798]
3 [Option ID = 2799]
4 [Option ID = 2800]

55)

In waste pollution prevention hierarchy, arrange following from least preferred to most preferred.
A, Waste Concentration

B. Waste Separation

C. Waste treatment

D. Recycling or Reuse

E. Landfill

Chowose the correct answer from the options given below

1.EACED
2ECABD
3.ECBAD
4ECADE

[Question ID = 701][Question Description = 155_89_EMS_SEP22_S2_Q55]

A wnN =

1 [Option ID = 2801]
2 [Option ID = 2802]
3 [Option ID = 2803]
4 [Option ID = 2804]



56)

Given below are two statements

Statement I: Key to nitrogen cycle is nitrogen fixing bacteria, which has ability to fix N3 or

[

combine gases Nz with hydrogen to form NHz;

Statement II: Nitrogen cycle includes fixation of molecular N; to ammonia to nitrite to nitrate
only. it does not include denitrification process,

In light of the above statements, cthoose the correct answer from the options given belew

1, Both Statement | and Statement |l are true
2, Baoth Statement | and Statemenit || are false
3, Statement | is true but Statement | is-false
4, Statement | is false but Statement [l is true

[Question ID = 702][Question Description = 156_89_EMS_SEP22_S2_Q56]

AN wnN =

57)

1 [Option ID = 2805]
2 [Option ID = 2806]
3 [Option ID = 2807]
4 [Option ID = 2808]

Given below are two statements

Statement I; Halons used as fire extinguishiers are bromine containing hydrogen free substances
and are involved in catalytic destruction of ozone in Stratosphere.

Statement lI: In arder to protect ozone layer in stratosphere, use of CFC was globally replaced by
HCFC’s, HFC's followed by Halens after Kyota protocol.

In light of the above statements, thoose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

[Question ID = 703][Question Description = 157_89_EMS_SEP22_S2_Q57]

A wpN =

58)

1 [Option ID = 2809]
2 [Option ID = 2810]
3 [Option ID = 2811]
4 [Option ID = 2812]

Given below are two statements

Statement |: Yellow carotenes and pale-yellow xanthophyll pigments are with strong reflectance
primarily in the blue wavelength regime of Electromagnetic Radiation (EMR).

Statement 1I: There are many cther pigments present in the palisade mesophyll cells that are
usually marked by the abundance of chlorophyll pigments.

In light of the above statements, cthoose the correct answer from the options given belew

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement Il is-false

J5 LD M -

. Statement | is false but Statement [l is true



[Question ID = 704][Question Description = 158_89_EMS_SEP22_S2_Q58]

D wnN -

59)

1 [Option ID = 2813]
2 [Option ID = 2814]
3 [Option ID = 2815]
4 [Option ID = 2816]

Given below are two statements

Statement |: Ecotypes are discrete entity because they have clear differences in morphology,
physiology and phenolegy in relation to particular environmental conditions,

Statement II: The envirenmentally induced variations in ecotypes are not heritable and do not
have adaptive value to a particular habitat,

In light of the above statements, thoose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3, Statement | is true but Statement |l is-false
4, Statement | is false but Statement |l is true

[Question ID = 705][Question Description = 159_89_EMS_SEP22_S2_Q59]

A w N =

60)

1 [Option ID = 2817]
2 [Option ID = 2818]
3 [Option ID = 2819]
4 [Option ID = 2820]

Given below are two statements

Statement I; A confined aquifer is an aguifer which is confined between impervious beds such as
aguicludes or aguifuges.

Statement 1I: Recharge of this aguifer takes place only in the area where it is exposed at the
ground surface.

In light of the above statements, choose the correct answer from the options given belew

1. Both Statement | and Statement || are true
2. Both Statement | and Statement || are false
3, Statement | is true but Statement |l is-false
4, Statement | is false but Statement |l is true

[Question ID = 706][Question Description = 160_89_EMS_SEP22_S2_Q60]

D wnN -

1 [Option ID = 2821]
2 [Option ID = 2822]
3 [Option ID = 2823]
4 [Option ID = 2824]



61)

Given below are two statements

Statement I: Noise pollution exists in the form of energy and is highly subjective in nature unlike
air pollution,

Statement 1I: Noise pollution exists irrespective of loudness of sound and tsuses both
physiological and psychological stress among individual or group of individuals,

In light of the above statements, cthoose the correct answer from the options given belew

1, Both Statement | and Statement |l are true
2, Baoth Statement | and Statemenit || are false
3, Statement | is true but Statement || is-false
4, Statement | is false but Statement [l is true

[Question ID = 707][Question Description = 161_89_EMS_SEP22_S2_Q61]

AN wnN =

1 [Option ID = 2825]
2 [Option ID = 2826]
3 [Option ID = 2827]
4 [Option ID = 2828]

62)

Given below are twa statements about Baghouse filter used to control air pollution

Statement |: Baghouse filters:are fabric bag filter which can be repeatedly cleaned and reused.
Collection efficiency can be very high (39.9% for all size of particles).

Statement II: Collection efficiency of baghouse filters decreases as dust collected on filters and
lead to decrease in pressure drop which increases airflow or decreases cost of forcing air through
filters,

In light of the above statements, thoose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [ is true

[Question ID = 708][Question Description = 162_89_EMS_SEP22_S2_Q62]

A w N =

1 [Option ID = 2829]
2 [Option ID = 2830]
3 [Option ID = 2831]
4 [Option ID = 2832]



63)

Given below are two statements

Statement I: An incineration process used to destroy highly toxic and hazardous waste differs
from the municipal solid waste incineration process.

Statement |I: Incineration emits small but significant amounts of numerous toxic chemicals and
produces ash residues (bottom and flyash) which must be buried in approved landfills.

In light of the above statements, cthoose the correct answer from the options given belew

. Both Statement | and Statement |l are true

P

. Both Statement | and Statement || are false
3, Statement | s true but Statement |l is-false
4 Statement | is false but Statement [l is true

[Question ID = 709][Question Description = 163_89_EMS_SEP22_S2_Q63]

AN wnN =

1 [Option ID = 2833]
2 [Option ID = 2834]
3 [Option ID = 2835]
4 [Option ID = 2836]

64)

Given below are two statements

Statement |: Student t-test is a non -parametric test,

Statement II: Paired t-test compares the two correlated sample means.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement || are true
2. Both Statement | and Statemenit |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

[Question ID = 710][Question Description = 164_89_EMS_SEP22_S2_Q64]

A wnN -

1 [Option ID = 2837]
2 [Option ID = 2838]
3 [Option ID = 2839]
4 [Option ID = 2840]



65)
Which of the following compounds in dirty dozens' list of POPs are formed as byproduct ef other
compounds and not applied directly in environment?

A, DDT

B. Dioxins

C. Hexachlorobenzene

D. Furans

E, Heptachler

Choose the correct answer from the options given below,

1..C and E only
2.B and D only
3.4 Cand Eanly
4, Aand Eonly

[Question ID = 711][Question Description = 165_89_EMS_SEP22_S2_Q65]
1. 1 [Option ID = 2841]
2. 2 [Option ID = 2842]
3. 3 [Option ID = 2843]
4. 4 [Option ID = 2844]

66)
Which of the following is correct for AAS 7

A, Itcan only analyze single element at a time.

B, It has low: linear dynamic range.

C. It can analyze Hg in vapeor phase.

D. It can analyze arsenic in hydride form.,

E, it works on principle of Beer Lamberi's law.

Choose the correct answer from the options given oelow,

1.8, C, D and E only
2, A Dand Eonly
3.AB CDandE
4 A B DandE only

[Question ID = 712][Question Description = 166_89_EMS_SEP22_S2_Q66]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4 [Option ID = 2848]



67)

The individual plant populations have following group characteristics
A, Density

B. Age

C. Ratios:

D. Natality

E, Dominance

Choose the correct answer from the options given below,

1.4, B, Cand Donly
2.A, C DandE only
3.A, B, DandE only
4 B, C, DandE only

[Question ID = 713][Question Description = 167_89_EMS_SEP22_S2_Q67]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]

68)

In the layered structure of the Earth, mantle is mostly made up of
A.Naand K

B.Mg and Fe

C. Ni

D.Si

E Al

Choose the correct answer from the options given below;

1.A and B enly
2.8 and Conly
3.8 and D only
4 A and Eonly

[Question ID = 714][Question Description = 168_89_EMS_SEP22_S2_Q68]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]



69)

Which of the following is not true about Solar Energy?
A, Ithas low environmental impact.
B. It is intermittent in its availability and requires efficient storage for continuous pewer supply.

C. Receives high regulatory credit from government in recognition of low amount of air pollution
and GHG emissian.

D. Ithas low operating tost.
E. It provides low density of energy per unit collection surface area.
Choose the correct answer from the options given below,

A and D anly
.B and Eonly
. C only

W -

. B only

[Question ID = 715][Question Description = 169_89_EMS_SEP22_S2_Q69]

A wpN =

70)

1 [Option ID = 2857]
2 [Option ID = 2858]
3 [Option ID = 2859]
4 [Option ID = 2860]

Deep open Benthas Communities

A, extend from the boundary of continental shelf to the deepest oceans,

B. often are entirely heterotrophic living on and in mud surface and bacteria.

C. include plankton and large swimming animals.

D.are rich in biodiversity through strange, occupying permanent cold and dark water,
E, are nutrient rich water supparting growth of arganisms,

Choose the correct answer from the options given oelow,

1.8, Cand D only
2.4 Band Conly
3.A BandDonly
4 B, Dand Eonly

[Question ID = 716][Question Description = 170_89_EMS_SEP22_S2_Q70]

A wnN -

1 [Option ID = 2861]
2 [Option ID = 2862]
3 [Option ID = 2863]
4 [Option ID = 2864]



71)

BOD test is commonly used to

A, determine amount of oxygen required for biological treatment of organic matter present in
waste water.

B. determine size of waste water treatment facility.

C. assess efficiency of treatment process,

D. determine compliance with wastewater discharge limits,
Choose the correct answer from the options given below;

1.D only

2.4 Band Conly
3.B, Cand D only
4 A B CandD

[Question ID = 717][Question Description = 171_89_EMS_SEP22_S2_Q71]

A wnN =

1 [Option ID = 2865]
2 [Option ID = 2866]
3 [Option ID = 2867]
4 [Option ID = 2868]

72)

Which of the following recognise low- waste approach ?
A, Linear Economy/Path of development

B. Circular Economy/Path of development

C. Waste Management

D. Waste Reduction

E. Primary pellution and waste prevention

Choose the correct answer from the options given below,

1.4 and Canly
2.B, D and Eonly
3.A Cand E only
4, Cand D only

[Question ID = 718][Question Description = 172_89_EMS_SEP22_S2_Q72]

A wnN =

1 [Option ID = 2869]
2 [Option ID = 2870]
3 [Option ID = 2871]
4 [Option ID = 2872]



A wpN =

) Which one of the following are four major waste types identified based on
characteristics?
A, Solid Waste
B. Sludge and Slurry Waste
C. Combustible Waste
D. Reactive Waste
E, Waste Water

Choose the correct answer from the options given below,

1.A, B, Cand Donly
2.A Cand Donly

3.4 B CandEonly
4.B,C,DandE only

[Question ID = 719][Question Description = 173_89_EMS_SEP22_S2_Q73]
1 [Option ID = 2873]
2 [Option ID = 2874]
3 [Option ID = 2875]
4 [Option ID = 2876]

74)
ElA is sually required for a development project when

A, Limited impacts are expected in the environmenit.

B. There are potentials for transboundary impact.

C. Many people are likely to be affected by the project.

D. Mo cumulative impacts are expected,

E. There are protected areas in the project area of influence.
Choose the correct answer from the options given oelow,

1.4, Band D only
2.8, Cand Eonly
3.B and D only

4 C,DandEonly

[Question ID = 720][Question Description = 174_89_EMS_SEP22_S2_Q74]

D wnN -

1 [Option ID = 2877]
2 [Option ID = 2878]
3 [Option ID = 2879]
4 [Option ID = 2880]

Physical



75)
The facts related to P-value:

A. It is the probability of type-ll error which is fixed ir advance.

B. It is the probability of type-1 error which is calculated based on data.

C. It is the probability of type-I error which is fixed in advance.

D. It:should be less:than the level of significance for having significant result.
E, it is the probability of type-Il error which iscalculated based on data,
Choose the correct answer from the options given below,

1.8 and D only
2.4 and Canly
3.C and E only
4, Cand D only

[Question ID = 721][Question Description = 175_89_EMS_SEP22_S2_Q75]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4 [Option ID = 2884]

76)
The 95% confidence interval of sample mean can be calculated by

A, Sample mean + 1.96 (Standard deviation)

B, Sample mean + 1,96 (Standard Error)

C. Sample mean + 1.96 (Standard Error/,/Sample size)

D. Sample mean + 1.96 (Standard deviation/,/Sample size)
E. Sample mean =+ 1.96 (Variance/, /[Sample size)

Choose the correct answer from the options given below:

1.4 and E only
2.B and D only
3. A and C only
4.8 and Conly

[Question ID = 722][Question Description = 176_89_EMS_SEP22_S2_Q76]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]



A wpN =

77)
Which of the following are parametric tests?

A - test

B, Paired t-test

C. McNemar's Test

D. F-test

E, Wilcoxon - signed-rank test

Choose the correct answer from the options given below,

1.4 and Canly
2.B and Conly
3.D and E only
4, B and D only

[Question ID = 723][Question Description = 177_89_EMS_SEP22_S2_Q77]
1 [Option ID = 2889]
2 [Option ID = 2890]
3 [Option ID = 2891]
4 [Option ID = 2892]

78)
Which of the following are the properties of Normal Distribution?

A, Median + ZSE covers the 95% of the observations,

B. Mode + 25E covers the 95% of the observations,

C. Mean £ 25D covers the 95% of the cbservations.

D. It is bell shaped and symmetric:

E. Mean 4 2SE covers the 95% of the observations.
Choose the correct answer from the options given below;

1.8 and C only
2.Cand Donly
3. D and E only
4. A and D only

[Question ID = 724][Question Description = 178_89_EMS_SEP22_S2_Q78]

AN wnN =

1 [Option ID = 2893]
2 [Option ID = 2894]
3 [Option ID = 2895]
4 [Option ID = 2896]



79)
Which of the following is an example of Type-l| error?

A, Probability of not rejecting null hypothesis, when it is actually false.

B, Probability of rejecting null hypothesis, when it is actually true.

C. When a drug is actually effective, but declared as not effective.

D. When a drug is actually not effective, but declared as effective,

E. When a person is actually not having disease, but declared as diseased by the physician,
Choose the correct answer from the options given below,

1.8 and C only
2.C and Donly
3. A and Caonly
4 AandEonly

[Question ID = 725][Question Description = 179_89_EMS_SEP22_S2_Q79]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]

80)
Match List | with List 11

List | List Il

Wavelength Response

A, 045 - 052 uym |l Abserptien band of healthy green vegetation.

B, 0.63 - 0.62 um |Il. Sensitive o turgidity in amount of water in plants,

C. 1.53 - 1.75 pm |llIl. Increased penetration of water bodies.

0. 2.08 -2.35 um|IV. For discrimination of geology.

Choese the correct answer from the options given belaw:

T.A-INM,B=1,C-1LB =N
ZA-LB-IV,C-1, D=
AL B-L =1L B IV
4A-ILB-ILC-1,D-1IV

[Question ID = 726][Question Description = 180_89_EMS_SEP22_S2_Q80]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]



81)
Match List | with List 11

List1 List 11

A. lschars I, Air moves fromsea to land,

B. Land Bresze|ll. Ocean current with circular flow.

. Sea Breeze |lll. Air moves from land to sea.

D. Gyres IV. Lines connect locations with equal pressure:

Choose the correct answer from the options given below:

TA-LB-I,C-N,B-1IV
ZA-IV,B-ILC-1L,B-1
LA-VB-NILC-LD-1
4A-B-ILC-,D-1V

[Question ID = 727][Question Description = 181_89_EMS_SEP22_S2_Q81]

A wnN =

1 [Option ID = 2905]

2 [Option ID = 2906]

3 [Option ID = 2907]

4 [Option ID = 2908]

82)

Match List 1 with List Il
List | List Il
A. Exasphere I. Ozone Formation
B. Stratosphere.  |ll. Prepogation of radie waves
€. Troposphere |l High temperatures due to solar radiation
D. Thermosphere |IV. Air mevements and cloud formation

Choose the correct answer from the options given below:

1LA-IV,B-Il,c-1,B-
ZA-LB-1LC-IV, D
A-LB-ILC-LD-IV
4LA-NB-LC-1,D-IV

[Question ID = 728][Question Description = 182_89_EMS_SEP22_S2_Q82]
1 [Option ID = 2909]
2 [Option ID = 2910]
3 [Option ID = 2911]
4 [Option ID = 2912]

AN wnN -



83)
Match List | with List 11

List1 List Il

Theory Proponent

A, Monoclimax Theory |l Watt (1247)

B. Poiyclimax Theory Il Whittaker (1953)

C. Climaxpattern Theory |Ill. Tansley (1920)
D. Cydic Climax Theory |IV. Clements {1938)

Choase the correct answer from the options given belaw:

T.A-INM,B=1LC-Il, B~
ZA-IVB-UILC-1, B=1
BA-ILB-ILC= D=1V
4A-,B-V,C-1,D-1

[Question ID = 729][Question Description = 183_89_EMS_SEP22_S2_Q83]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]

84)
Match List | with List 11

List 1 List Il

Name Major Characteristics

A, Andisols |I. Permafrest, often with cryoturbation

B. Gelisols |Il. High in swelling clays, deep cracks when soil is dry

C. Histosols |I1l. From volcanic ejecta, dominated by allophane orAl-humic complexes

D. Vertisols IV, Peat or bog ; = 20% organic matter

Choase the correct answer from the options given below:

T.A-Il,B-M.C-V,D-I
2ZA-1,B-LE=IV,D=1
FA-MB-LC-1, B=]
4A-1,B-1l,C-N,D-IV

[Question ID = 730][Question Description = 184_89_EMS_SEP22_S2_Q84]
1. 1 [Option ID = 2917]
2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]



85)

Match List | with List 11

List 1 List

Species Chemical formula

A, Arsenate || P3Os

B.Red lead Il (AsCa)*

C. White lead |IIl. Pb3(CO3)2(0H)z

D. Arsenite IV, {A503}5’

Choase the correct answer from the options given belew:

T.A-IM,B=LE-1IlL D=1
2ZA-ILB-L, €=l D-IV
BA-ILB-ILC=-1D-IV
4A-IVB=-ULC-1DO-1l

[Question ID = 731][Question Description = 185_89_EMS_SEP22_S2_Q85]

1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]

86)

Match List | with List 11

List1

List Il

Green House Gas

Global Warming Potential (GWP) (in 20yrs time period)

A, CO; I. 360
B. CHa I1. 50
C. NoO Iil. 280
D. CH3CCh VAR

Choase the carrect answer from the options given below:

T-A-ILB=1, C=1ll, D=1V

22A-1,B-1,C

-V, B =1l

A= B=ILE=L D=V
4A- IV B-ILC-M.D=I

[Question ID = 732][Question Description = 186_89_EMS_SEP22_S2_Q86]

1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]




87)
Match List | with List 11

List1

List Il

A. Above ground landfills |I. Control of surface draining

B. Below ground landfills |Il. Centrel inflowing water

. Slope landfills

lIl. Liner and leachate content system’

D. Valley landfills

IV. Low permeability liners

Choose the correct answer from the options given below:

TA-1,B-Il,C-V,

-

2ZA-LB-ILCE-LD-IV
LA-WB-ILC-IV,D-|

4A-INVEB-NLC-1

, D -1

[Question ID = 733][Question Description = 187_89_EMS_SEP22_S2_Q87]

1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

88)
Match List | with List 11

List |

List Il

Statistical Method

Purpose

A. Standard Dewiation

I. Te predict the dependent variable on the basis of independent variables.

B. Standard Error

II. To deseribe the variability in.a sample.

C. Regression Analysis

11, To construct the 95% confidence interval.

D. Benferreni's method

IV. Used after ANQVA, if p<0.05.

Choese the correct answer from the options given below:

T.A-|B-NLE-IV,
ZA-ILB-V,C-1l
AN, B=-IC-|

o-1

i B

p-IV

4A-IV,B-1LC-,D=I

[Question ID = 734][Question Description = 188_89_EMS_SEP22_S2_Q88]

1. 1 [Option ID = 2933]
2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]




89)
Match List | with List 11

List | List Il
A. Geological Hazard I. Nuclear Explosion
B. Chemical Hazard Il. Pandemic

. Hydro - meteorological Hazard |lIl, Tsunami

D. Biological Hazard IV, Drought

Choose the correct answer from the options given below;

TA-WB-ILC-Il,D-I
ZA-ILB-LC-IV. Bl
LA-ILB-ILC-IV,D-1l
4A-B-LC-1I,D-1V

[Question ID = 735][Question Description = 189_89_EMS_SEP22_S2_Q89]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

90)
Match List | with List 11
List 1 List Il
A. Pong dam Lake |I. Tamil Nadu
B. Harike Lake Il. Andhra Pradesh
€. Kollerur Lake  |Ill. Himachal Pradesh
D. Point Calimere |IV. Punjab

Choose the correct answer from the options given below;

TLA-I,B-\M,C-IL,D-
ZA-ILB-ILE-IV,.D-

3A-M,B-IV.C-l,D-1
4A-1B-ILC-Iv,D-IN

[Question ID = 736][Question Description = 190_89_EMS_SEP22_S2_Q90]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

Topic:- 89_PARTB_S2



) Read the given passage and answer the questions that follow

The chemistry of rainwater has been extensively studied. The pH of pure water, i.e, neither acidic
nor basic, is 7.0. Even in the pristine environment rain is slightly acidic (5.6 pH) in comparison to
neutral pH of 7 for water because of presence of natural CO; in atmosphere. Acid forming precursor
gases, e.g, SO; and NOx further lowers pH of rainwater and such rain water having pH less than 5.6 (
pH of natural rainwater) are termed as acidic rain.

However nitrogen oxide species before combining with water droplets to form nitric acid undergoes
photodissociation.

Acidic rain adversely impacts oil, monuments and fresh water lakes that are downwind from large
source of SO; and NOx such as coal fired thermal power plants. Acidic rainwater reduces cation
exchange capacity of the soil and hence crop productivity of the soil. Cations are washed away with
acidic rainwater leads to enrichment of basic nutrients in lakes in downstream areas. Similarly acidic
rainwater decreases lake water pH and introduces AI*" toxicity and increases solubility of other
metals. The effect of acid rain depends on buffering capacity of soil and lakes. Lakes and soils having
calcium carbonate are less vulnerable to change in pH due to acid rain.

The Eastern United states and Eastern Europe have been severally impacted by acid rain
whereas cases of acidic rain are very limited in northern India irrespective of high SO; and NOx
emissions. This is because of carbonate rich dust present in atmosphere. Emission control,
e.g, sulphur reduction in coal SOz and NOx reduction from smoke stack of thermal power plants are
partially directed towards reducing chances of acid rain.

What could be the pH of rain water in pristine environment in comparison to the pure water?

1. Neutral

2. Basic

3. Acidic

4, Both Acidic and Basic

[Question ID = 737][Question Description = 191_89_EMS_SEP22_S2_Q91]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]



2) Read the given passage and answer the questions that follow

The chemistry of rainwater has been extensively studied, The pH of pure water, ie, neither acidic
nor basic, is 7.0. Even in the pristine environment rain is slightly acidic (5.6 pH) in comparison to
neutral pH of 7 for water because of presence of natural CO; in atmosphere. Acid forming precursor
gases, e.g., SOz and NOx further lowers pH of rainwater and such rain water having pH less than 5.6 (
pH of natural rainwater) are termed as acidic rain.

However nitrogen oxide species before combining with water droplets to form nitric acid undergoes
photodissociation.

Acidic rain adversely impacts oil, monuments and fresh water lakes that are downwind from large
source of SO; and NOx such as coal fired thermal power plants. Acidic rainwater reduces cation
exchange capacity of the soil and hence crop preductivity of the soil. Cations are washed away with
acidic rainwater leads to enrichment of basic nutrients in lakes in downstream areas. Similarly acidic
rainwater decreases lake water pH and introduces AI** toxicity and increases solubility of other
metals. The effect of acid rain depends on buffering capacity of soil and lakes. Lakes and seils having
calcium carbonate are less vulnerable to change in pH due to acid rain.

The Eastern United states and Eastern Europe have been severally impacted by acid rain
whereas cases of acidic rain are very limited in northern India irrespective of high SO, and NOx
emissions. This is because of carbonate rich dust present in atmosphere. Emission control,
e.g, sulphur reduction in coal SO; and NOx reduction from smoke stack of thermal power plants are
partially directed towards reducing chances of acid rain.

The acid rain is in fact a cocktail of H;S0s and HNO3 and the ratio of two may vary depending on
relative quantities of oxides of Sulphur and nitrogen emitted. On an average, the acidity in
rainwater is ascribed as one of the following combinations :

1. H2504 = H2CO3
2.Hz504 < HNO;3
3.Hz504 = HNO3
4. H;50, > HNO3

[Question ID = 738][Question Description = 192_89_EMS_SEP22_S2_Q92]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]



3) Read the given passage and answer the questions that follow

The chemistry of rainwater has been extensively studied. The pH of pure water, i.e, neither acidic
nor basic, is 7.0. Even in the pristine environment rain is slightly acidic (5.6 pH) in comparison to
neutral pH of 7 for water because of presence of natural CO; in atmosphere. Acid forming precursor
gases, e.g., SO and NOx further lowers pH of rainwater and such rain water having pH less than 5.6 (
pH of natural rainwater) are termed as acidic rain.

However nitrogen oxide species before combining with water droplets to form nitric acid undergoes
photodissociation.

Acidic rain adversely impacts oil, monuments and fresh water lakes that are downwind from large
source of SO and NOx such as coal fired thermal power plants, Acidic rainwater reduces cation
exchange capacity of the soil and hence crop productivity of the soil. Cations are washed away with
acidic rainwater leads to enrichment of basic nutrients in lakes in downstream areas. Similarly acidic
rainwater decreases lake water pH and introduces AIP* toxicity and increases solubility of other
metals. The effect of acid rain depends on buffering capacity of soil and lakes. Lakes and soils having
calcium carbonate are less vulnerable to change in pH due to acid rain.

The Eastern United states and Eastern Europe have been severally impacted by acid rain
whereas cases of acidic rain are very limited in northern India irrespective of high SO; and NOx
emissions. This is because of carbonate rich dust present in atmosphere, Emission control,
e.g, sulphur reduction in coal SO; and NOx reduction from smoke stack of thermal power plants are
partially directed towards reducing chances of acid rain.

Acid rain in a tropical environment does not result in

1. degradation of land flora and fauna.

2. corrosion of bridges and railings.

3. adverse changes in aquatic life.

4, increase in soil fertility.
[Question ID = 739][Question Description = 193_89_EMS_SEP22_S2_Q93]
1. 1 [Option ID = 2953]
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Y Read the given passage and answer the questions that follow

The chemistry of rainwater has been extensively studied. The pH of pure water, i.e, neither acidic
nor basic, is 7.0. Even in the pristine environment rain is slightly acidic (5.6 pH) in comparison to
neutral pH of 7 for water because of presence of natural CO; in atmosphere. Acid forming precursor
gases, e.g., SO; and NOx further lowers pH of rainwater and such rain water having pH less than 5.6 |
pH of natural rainwater) are termed as acidic rain.

However nitrogen oxide species before combining with water droplets to form nitric acid undergoes
photodissociation.

Acidic rain adversely impacts oil, monuments and fresh water lakes that are downwind from large
source of SO; and NOx such as coal fired thermal power plants. Acidic rainwater reduces cation
exchange capacity of the soil and hence crop productivity of the soil. Cations are washed away with
acidic rainwater leads to enrichment of basic nutrients in lakes in downstream areas. Similarly acidic
rainwater decreases lake water pH and introduces AIP™ toxicity and increases solubility of other
metals. The effect of acid rain depends on buffering capacity of soil and lakes. Lakes and soils having
calcium carbonate are less vulnerable to change in pH due to acid rain.

The Eastern United states and Eastern Europe have been severally impacted by acid rain
whereas cases of acidic rain are very limited in northern India irrespective of high SO; and NOx
emissions. This is because of carbonate rich dust present in atmosphere. Emission control,
e.g, sulphur reduction in coal SOz and NOx reduction from smoke stack of thermal power plants are
partially directed towards reducing chances of acid rain.

Which one of the following gases is dominantly responsible for acid rain?

1.COz
2.50;
3. CHa
4. NO;

[Question ID = 740][Question Description = 194_89_EMS_SEP22_S2_Q94]
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%) Read the given passage and answer the questions that follow

The chemistry of rainwater has been extensively studied. The pH of pure water, i.e, neither acidic
nor basic, is 7.0. Even in the pristine environment rain is slightly acidic (5.6 pH) in comparison to
neutral pH of 7 for water because of presence of natural CO; in atmosphere. Acid forming precursor
gases, e.g., SO; and NOx further lowers pH of rainwater and such rain water having pH less than 5.6 (
pH of natural rainwater) are termed as acidic rain.

However nitrogen oxide species before combining with water droplets to form nitric acid undergoes
photodissociation.

Acidic rain adversely impacts oil, monuments and fresh water lakes that are downwind from large
source of 50; and NOx such as coal fired thermal power plants. Acidic rainwater reduces cation
exchange capacity of the soil and hence crop productivity of the soil. Cations are washed away with
acidic rainwater leads to enrichment of basic nutrients in lakes in downstream areas. Similarly acidic
rainwater decreases lake water pH and introduces AI** toxicity and increases solubility of other
metals, The effect of acid rain depends on buffering capacity of soil and lakes. Lakes and soils having
calcium carbonate are less vulnerable to change in pH due to acid rain.

The Eastern’ United states and Eastern Europe have been severally impacted by acid rain
whereas cases of acidic rain are very limited in northern India irrespective of high SO; and NOx
emissions. This is because of carbonate rich dust present in atmosphere. Emission control,
e.g, sulphur reduction in coal SOz and NOx reduction from smoke stack of thermal power plants are
partially directed towards reducing chances of acid rain.

Why northern India does not have instances of acid rain whereas Eastern United States and
Eastern Europe are severely impacted ?

1. Low SO; emissions

2. Low NOx emissions

3. Presence of carbonate rich particles

4. Better fuel quality and pollution control

[Question ID = 741][Question Description = 195_89_EMS_SEP22_S2_Q95]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
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Topic:- 89_PARTC_S2



) Read the given passage and answer the questions that follow

Pesticides have not been as effective in reducing crop losses in United States as agriculture experts
hoped. Pesticides can promote genetic resistance to their effects, wipe out natural enemies of
pests species, create new pests species, end up in the environment, and sometimes harm wildlife
and people. Use of synthetic pesticides increased 33 fold since 1942 whereas 37% food supply is lost
to pests today compared to 31% in 1940s. Since 1942, loses attributed to insects almost doubled
from 7 to 13% despite a 10 fold increase in synthetic insecticides. The estimated envircnmental,
health and social cost of pesticides was in the range of 100-200 billions USD per year. Alternative
pest management practices could halve the use of chemical pesticides on forty major US crops
without reducing crop yield. In fact, yield me actually increased without chemical pesticides. Sweden
has reduced pesticides use with almost no decrease in crop yield. After a 2/3™ cut in pesticide use
on rice in Indonesia yields increased by 15%. The pesticides make a circle of poison, residue of some
banned/approved chemicals exported to other countries can return to the exporting countries on
imported food. According to a study, only 0.1- 0.2% of insecticides applied to crop by aerial or
ground spraying reaches the target pests and can undergo bicaccumulation and bio-magpnification.
The wind can also carry persistent erganic pesticide such as DDT from one country to another. In
2000, more than hundred countries reached an international agreement to ban or phase out the use
of twelve specially hazardous persistent organic pollutants (POPs), and nine of them were persistent
hydrocarbon pesticide such as DDT and other chemically similar pesticides.

Which of the following characteristics of synthetic chemical pesticides is NOT globally true ?

1. Can cause genetic changes in pests resistance to them.

2. Eliminate pest species from the field of their continuous application.
3. Can create new pest species.

4, Never harm wildlife and human health.

[Question ID = 742][Question Description = 196_89_EMS_SEP22_S2_Q96]
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2) Read the given passage and answer the questions that follow

Pesticides have not been as effective in reducing crop losses in United States as agriculture experts
hoped. Pesticides can promote genetic resistance to their effects, wipe out natural enemies of
pests species, create new pests species, end up in the environment, and sometimes harm wildlife
and people. Use of synthetic pesticides increased 33 fold since 1942 whereas 37% food supply is lost
to pests today compared to 31% in 1940s. Since 1942, loses attributed to insects almost doubled
from 7 to 13% despite a 10 fold increase in synthetic insecticides. The estimated environmental,
health and social cost of pesticides was in the range of 100-200 billions USD per year. Alternative
pest management practices could halve the use of chemical pesticides on forty major US crops
without reducing crop yield. In fact, yield me actually increased without chemical pesticides. Sweden
has reduced pesticides use with almost no decrease in crop yield. After a 2/3 cut in pesticide use
on rice in Indonesia yields increased by 15%. The pesticides make a circle of poison, residue of some
banned/approved chemicais exported to other countries can return to the exporting countries on
imported food. According to a study, only 0.1- 0.2% of insecticides applied to crop by aerial or
ground spraying reaches the target pests and can undergo bioaccumulation and bio-magnification.
The wind can also carry persistent organic pesticide such as DDT from one country tc another. In
2000, more than hundred countries reached an international agreement to ban or phase out the use
of twelve specially hazardous persistent organic pollutants (POPs), and nine of them were persistent
hydrocarbon pesticide such as DDT and other chemically similar pesticides.

Which of the following is NOT true about alternative pest management practices?

1, They could reduce the use of chemical pesticides.

2. They could break the circle of poison.

3. They cannot be applied without compromising on crop yield.
4. They reduce air pollution and bioaccumulation due to POPs.

[Question ID = 743][Question Description = 197_89_EMS_SEP22_S2_Q97]

1
2
3.
4
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3) Read the given passage and answer the questions that follow

Pesticides have not been as effective in reducing crop losses in United States as agriculture experts
hoped. Pesticides can promote genetic resistance to their effects, wipe out natural enemies of
pests species, create new pests species, end up in the environment, and sometimes harm wildlife
and people. Use of synthetic pesticides increased 33 fold since 1942 whereas 37% food supply is lost
to pests today compared to 31% in 1940s. Since 1942, loses attributed to insects almost doubled
from 7 to 13% despite a 10 fold increase in synthetic insecticides. The estimated environmental,
health and social cost of pesticides was in the range of 100-200 billions USD per year. Alternative
pest management practices could halve the use of chemical pesticides on forty major US crops
without reducing crop yield. In fact, yield me actually increased without chemical pesticides, Sweden
has reduced pesticides use with almost no decrease in crop yield. After a 2/3" cut in pesticide use
on rice in Indonesia yields increased by 15%. The pesticides make a circle of poison, residue of some
banned/approved chemicals exported to other countries can return to the exporting countries on
imported food. According to a study, only 0.1- 0.2% of insecticides applied to crop by aerial or
ground spraying reaches the target pests and can undergo biocaccumulation and bio-magnification.
The wind can also carry persistent organic pesticide such as DDT from one country to another. In
2000, mere than hundred countries reached an international agreement to ban or phase out the use
of twelve specially hazardous persistent organic pollutants (POPs), and nine of them were persistent
hydrocarbon pesticide such as DDT and other chemically similar pesticides.

Synthetic chemical pesticides are not known for contribution to

1. air pollution.

2. water pollution.

3. increase in crop yield.
4. reduce soil diversity.

[Question ID = 744][Question Description = 198_89_EMS_SEP22_S2_Q98]
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4) Read the given passage and answer the questions that follow

Pesticides have not been as effective in reducing crop losses in United States as agriculture experts
hoped. Pesticides can promote genetic resistance to their effects, wipe out natural enemies of
pests species, create new pests species, end up in the environment, and sometimes harm wildlife
and people. Use of synthetic pesticides increased 33 fold since 1942 whereas 37% food supply is lost
to pests today compared to 31% in 1940s. Since 1942, loses attributed to insects almost doubled
from 7 to 13% despite a 10 fold increase in synthetic insecticides. The estimated environmental,
health and social cost of pesticides was in the range of 100-200 billions USD per year. Alternative
pest management practices could halve the use of chemical pesticides on forty major US crops
without reducing crop yield. In fact, yield me actually increased without chemical pesticides. Sweden
has reduced pesticides use with almost no decrease in crop yield. After a 2/3' cut in pesticide use
on rice in Indonesia yields increased by 15%. The pesticides make a circle of poison, residue of some
banned/approved chemicals exported to other countries can return to the exporting countries on
imported food. According to a study, only 0.1- 0.2% of insecticides applied to crop by aerial or
ground spraying reaches the target pests and can underge bicaccumulation and bio-magnification.
The wind can also carry persistent organic pesticide such as DDT from one country to another. In
2000, more than hundred countries reached an international agreement to ban or phase out the use
of twelve specially hazardous persistent organic pollutants (POPs), and nine of them were persistent
hydrocarbon pesticide such as DDT and other chemically similar pesticides.

The international agreement to ban or phase out 12 persistent organic pollutants including ¢
hydrocarbon pesticides such as DDT have been executed because

A, nearly 98-99% of them goes in environmant after their use via aerial or water spraying.
B. they enter in the circle of poison,

C. they reduce crop yield.

D. they affect human health.

E they affect life-forms.

Choose the correct answer from the options given below:

1. 8. Cand D only
2. A; B and C only
3.A.B,CDandE
4.4, B Cand D only

[Question ID = 745][Question Description = 199_89_EMS_SEP22_S2_Q99]
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3)  Read the given passage and answer the questions that follow

Pesticides have not been as effective in reducing crop losses in United States as agriculture experts
hoped. Pesticides can promote genetic resistance to their effects, wipe out natural enemies of
pests species, create new pests species, end up in the environment, and sometimes harm wildlife
and people. Use of synthetic pesticides increased 33 fold since 1942 whereas 37% food supply is lost
to pests today compared to 31% in 1940s. Since 1942, loses attributed to insects almost doubled
from 7 to 13% despite a 10 fold increase in synthetic insecticides. The estimated environmental,
health and social cost of pesticides was in the range of 100-200 billions USD per year. Alternative
pest management practices could halve the use of chemical pesticides on forty major US crops
without reducing crop yield. In fact. yield me actually increased without chemical pesticides. Sweden
has reduced pesticides use with almost no decrease in crop yield. After a 2/3 cut in pesticide use
on rice in Indonesia yields increased by 15%. The pesticides make a circle of poison, residue of some
banned/approved chemicals exported to other countries can return to the exporting countries on
imported food. According to a study, only 0.1- 0.2% of insecticides applied to crop by aerial or
ground spraying reaches the target pests and can undergo bioaccumulation and bio-magnification.
The wind can also carry persistent organic pesticide such as DDT from one country to another. In
2000, more than hundred countries reached an international agreement to ban or phase out the use
of twelve specially hazardous persistent organic pollutants (POPs), and nine of them were persistent
hydrocarbon pesticide such as DDT and other chemically similar pesticides.

Given below are two statements

Statement I: No use or reduced use of synthetic chemical pesticides is likely to reduce the crop
yield as compared to their use.

Statement II: Alternative pest management practices are likely to improve crop yield.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

[Question ID = 746][Question Description = 200_89_EMS_SEP22_S2_Q100]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
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1) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a city

o Number of Percentage (%) of Overweight
Men Women | Children Men Women | Children
2016(27000| 19000 | 7500 15% 36% 30%
2017|37500| 32000 | 10500 7% 35% 28%
2071831500 30000 6000 30% 25% 35%
2019|33000, 27000 | 8000 16% 30% 30%
2020(35000| 34000 | 10000 12% 27% 32%
2021(39000, 37500 | 22500 | 37.50% 22% 36%

What was the average of the number of men, women and chlidren who were overweightin the year
20197

1.4812
2.5016
3: 5395
4,5260

Frafif@s aiteT § Bee 2016 ¥ 2021 @ & O O & 4RA U Ye3 & qoul, Afeams ud o= @
e AR sifie aut uewl, #fie awt afemet g fte ot o=t & R # Se (@) wRgd e
=

U eI # e HTaN-aR Favo

I = U T BT U (%)
Y AR Eds ey wWedanw a9

20162700019000 {7500 [15% 36% 30%

20173750032000 [10500{7% 35% 28%
Z0183150030000 000 (30% 25% 35%
2019/3300027000 {8000 [16% 30% 30%

2020135000,34000 [10000{12% 27% 32%
202113900037500 [2250013750% [22% 36%

ay 2019 & I g, Afcren ok gl &1 v el 6, 9 oifle aw 42

1.4812
2.5016
3.5395
4. 5260

[Question ID = 541][Question Description = 101_0_GP16_SEP22_S2_QO01]



1 [Option ID = 2161]
2 [Option ID = 2162]
3 [Option ID = 2163]
4 [Option ID = 2164]
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2) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a city

i Number of Percentage (%) of Overweight
Men Women | Children, Men Women | Children
2016|27000| 19000 | 7500 15% 36% 30%
2017|37500| 32000 | 10500 7% 35% 28%
2018 31500| 30000 6000 30% 25% 35%
201933000, 27000 | 8000 16% 30% 30%
2020(35000| 34000 | 10000 12% 27% 32%
2021(39000| 37500 | 22500 | 37.50% 22% 36%

The number of overweight men in the year 2021 was what percent of the number of men who were
not overweight in the same year?

1.55%
2.60%
3.505%
4.655%



Frafifes Tl # Bee 2016 € 2021 7% & O I & 4RA UH Ye< # qout At ud == &
T AR e aut uewl, i awl Akt ud ofie au-l 9=t & IR § ST (&) Ud YT
gl

U T # I d1aN-ar f[ao

P | SHTEH T T AT (%)
TN HREEs ey @ W@gen  gw

207162700019000 [7500 15% 36% 30%

20173750032000 [10500[7% 35% 28%
201831500/30000 6000 [30% 25% 35%
2019[33000127000 (8000 [16% 30% 30%
1202013500034000 |10000(12% 27% 32%

20213900037500 [2250037.50% [22% 36%

af 2021 & IfE TuT TON! @ H= 3 YR BT Y= B go A e e 4 5t outad #
e g9 ST gH g d1i3d 781 ¢ 2

1.55%
2.60%
3.505%
4.65.5%
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3) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a city

o Number of Percentage (%) of Overweight
Men Women | Children Men Women | Children
2016(27000| 19000 | 7500 15% 36% 30%
2017|37500| 32000 | 10500 7% 35% 28%
2071831500 30000 6000 30% 25% 35%
2019|33000, 27000 | 8000 16% 30% 30%
2020(35000| 34000 | 10000 12% 27% 32%
2021(39000, 37500 | 22500 | 37.50% 22% 36%

What was the ratio of the number of overweight women in the year 2018 to the number of
overweight men in the year 20207

1.6 T

2.21:65
3:.15:73
4.25:14

Frafif@s aiteT § Bee 2016 ¥ 2021 @ & O O & 4RA U Ye3 & qoul, Afeams ud o= @
e AR sifie aut uewl, #fie awt afemet g fte ot o=t & R # Se (@) wRgd e
=

0% W< # Sel S1a8-aR [awo
I = U T BT U (%)
PN WREEs Ury = Wgan  aw
201627000/19000 (7500 (15% 36% 30%
2017/37500[32000 [10500{7% 35% 28%
2018)31500[30000 6000 [30% 25% 35%
2019(33000/27000 (8000 [16% 30% 30%
2020(35000/34000 [10000112% 27% 32%
2021/39000/37500 [22500[37.50%  [22% 36%

au 2018 # e aw- ARgerel @ W &1 U a8 2020 A RS q9-1 Gon] &I gl H a1y ?

1.67

2.21:65
3.15:73
4,25:14
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4) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a city

i Number of Percentage (%) of Overweight
Men Women | Children, Men Women | Children
2016|27000| 19000 | 7500 15% 36% 30%
2017|37500| 32000 | 10500 7% 35% 28%
2018 31500| 30000 6000 30% 25% 35%
201933000, 27000 | 8000 16% 30% 30%
2020(35000| 34000 | 10000 12% 27% 32%
2021(39000| 37500 | 22500 | 37.50% 22% 36%

What was the difference between the number of overweight women and overweight children
together in the year 2018 and the number of overweight men in the same year?

1.150
2.450
3.345
4,865



Frafifes Tl # Bee 2016 € 2021 7% & O I & 4RA UH Ye< # qout At ud == &
T AR e aut uewl, i awl Akt ud ofie au-l 9=t & IR § ST (&) Ud YT
gl

U T # I d1aN-ar f[ao

P | SHTEH T T AT (%)
TN HREEs ey @ W@gen  gw

207162700019000 [7500 15% 36% 30%

20173750032000 [10500[7% 35% 28%
201831500/30000 6000 [30% 25% 35%
2019[33000127000 (8000 [16% 30% 30%
1202013500034000 |10000(12% 27% 32%

20213900037500 [2250037.50% [22% 36%

7 2018 # it FwT wigeelt vd Sfie vt o=t @ o g IR It A 7 sfie Te genl
&1 e & W T AR T2

1.150
2.450
3. 345
4, 865
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5) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wi istribution of Population in a city

Number of Percentage (%) of Overweight
Year Men Women Children, Men Women | Children
2016(27000| 19000 7500 15% 36% 30%
2017(37500| 32000 10500 7% 359% 28%
2018(31500| 30000 6000 30% 25% 35%
2019(33000| 27000 8000 16% 30% 30%
2020|35000| 34000 | 10000 12% 27% 32%
202139000 37500 | 22500 | 37.50% 22% 36%

What was the total number of children who were not overweight in the year 2016 and 2017
together?

1.4530
2.4350
3.12810
4, 14820

Frafafeg TifteT # s 2016 T 2021 @ & 98 I8] & aRH UH Y63 3§ gout Al vd o=t @i
Y R e -t uewt, srfle au-t aRensitud sifies it v=dt & IR & 3o (&) wgd fBu

gl
U ¥ A S8 HTa8-aR {awo

it = ST ot BT WTTRIeT (%)

oy dAfgeew qew  wRed  aw
2016/27000{19000 (7500 15% 36% 30%
2017/37500,32000 [10500/7% 35% 28%
2018(31500/30000 [6000 [30% 25% 35%
2019(3300027000 (8000 [16% 30% 30%
202035000/34000 [10000/12% 27% 32%
2021|39000/37500 [22500[3750% [22% 36%

T 2016 AR 2017 A I = &1 g1 T &1 4, 5 0w a9 o FHETE difgd T8 €2

1.4,530
2.4,350
3.12,810
4,114,820

[Question ID = 545][Question Description = 105_0_GP16_SEP22_S2_Q05]



1 [Option ID = 2177]
2 [Option ID = 2178]
3 [Option ID = 2179]
4 [Option ID = 2180]

A W N -

Topic:- 13_GP_30SEPT22_SH1_S2_B

1)

According to the revised Bloom's taxonomy, which of the fellowing categories is considered to be

highest for the learner?

1, Uriderstand
2. Apply

3, Analyse

4, Create

T sefH &1 afie ! & AR FEfiiEd 5 ¥ by sfvmedl & R gaias AFTEE e 2

1, THZAT
2, VAT AT
3, ey T
4, A BT

[Question ID = 546][Question Description = 106_0_GP16_SEP22_S2_Q06]
1. 1 [Option ID = 2181]
2. 2 [Option ID = 2182]
3. 3 [Option ID = 2183]
4. 4 [Option ID = 2184]

2)
Which of thie followirig is MOT characteristic of a good guestion paper?

1, Dbjectivity
2, Subjectivity
3, Reliability
4 Validation

Fryifed 3 O @ i ue 909 vy Uz o] REiNar et ee

1, T AT

2, AN
3, faugta
4 fafrET=e

[Question ID = 547][Question Description = 107_0_GP16_SEP22_S2_Q07]
1. 1 [Option ID = 2185]
2. 2 [Option ID = 2186]
3. 3 [Option ID = 2187]
4. 4 [Option ID = 2188]



3)
Giver below are bwo statemerits, one is labelled as Assertion A and the otheris|abelled as Reason
R

Assertion A : MOOCs on the SWAYAM portal can be uged for earning upto 40% credits per
semester by students:

Reason R Al MODCs on the SWavAl portal are credit-based MOOCs,
Imlight of the abowe staterments, choose the correct answer from the options given below

1, Both A arid R are true and R is the correct explanation of A

2, Both A arid R are true but R ig MNOT the correct explanation of A
3 Aistrue butRis false

4 Az false but Ris true

T & By BE TR TH AHYT (Assertion &) & T T BT £ 1 35X 3T TR (Reason R)
%Wff

YT A WT TIEE TR I &1 U U ® Gaws 7 fardat gRT 40% #iEe il oee &
e gE |

HR R FH Ulee] 93 T 0 sfec STRa & & |
Iqiied Byl & e ¥ Fyied feedl § ¥ Oel SR @1 ag S

1 AARREFAI T E AR, AT GEIUFE 8

2 AARREFAI O E TR, AT U8l RS 61 &
3ATTE, Ui R AT R

4 4TI, AHTRTTE

[Question ID = 548][Question Description = 108_0_GP16_SEP22_S2_Q08]
1. 1 [Option ID = 2189]
2. 2 [Option ID = 2190]
3. 3 [Option ID = 2191]
4. 4 [Option ID = 2192]

4)
Dynamic approach to teaching means

1, Teaching shiould be lecture based.

2, Teachers shaould be energetic,

3, Teachers should be student friendly.

4, students shiould learn through activities,

Rr&f T RS U © T

1 FRT&M SRS TN BT IR |

2 frgwt @l FeiaH g TRy |

3, gt @ [Memdl & o e N 31 d G g Uieg |
4, et et s & A 9 ek

[Question ID = 549][Question Description = 109_0_GP16_SEP22_S2_Q09]
1. 1 [Option ID = 2193]
2. 2 [Option ID = 2194]



3. 3 [Option ID = 2195]
4. 4 [Option ID = 2196]

5)
hatch List | with List 11

List |

List 1l

Concepts

Main Proponent

A Self-education through development of individuality ||, Sri Aurcbindo

E. Integral education

I, hatiatma Gandhi

. Education to transform hurman mind

1. kdaria hMontessori

D, Basic education (Wardha Education Systern) W), Krishramurti

Choose the correct answer from the optians given below:

1 A-LB-LC- W D-
2A-NLEB-LC-I, -1V
2ANLE-LC- WD
4 A-LB-IC-1, D=l

e - S - o gAfE B

T -| (TR T || S UuEE)
o, Bafad TR & [T & HTREH © ST-Rre |1, o 3R

B. Ui (24T I, FETeHT 7T

. T RS 1 TOTaNT SI-are @&T I, FRET He g

D, Hifer Ref (el R woredh I\, TR

e 2 T et #9 gel Iw g

TA-LB-ULC-1 B -1l
2A-ILB-LC-Il, -1V
BA-ULB-LC-1v, -1l
A4 A-LB-IVC-Il T-lf

[Question ID = 550][Question Description = 110_0_GP16_SEP22_S2_Q10]

1. 1 [Option ID = 2197]
2. 2 [Option ID = 2198]
3. 3 [Option ID = 2199]
4. 4 [Option ID = 2200]

6)
Hiztorical research has the limitation of

1, Problem identification
2, Analytical symthesig

3, Universal generalization
4, Probable conclusions




BT STy ST EHERT F ey

1, TS 9edH

2, e TR RN
3, gEYTHE gEEI
4, T ey

[Question ID = 551][Question Description = 111_0_GP16_SEP22_S2_Q11]
1. 1 [Option ID = 2201]
2. 2 [Option ID = 2202]
3. 3 [Option ID = 2203]
4. 4 [Option ID = 2204]

7)
The term 'Hermeneutics' is drawn from

1, Sociology

2, Theaology

3, Anthropology
4, Economics

UE AR AT B SE T g e

1 TR
2, SyTH
3, 7@
4, YT

[Question ID = 552][Question Description = 112_0_GP16_SEP22_S2_Q12]
1. 1 [Option ID = 2205]
2. 2 [Option ID = 2206]
3. 3 [Option ID = 2207]
4. 4 [Option ID = 2208]

8)
Which of thie followirig have been considered as threat to internal validity in research?

& Raridomisation

B, Generalisability

C. Maturaticr

D, Histary

E. Iristrumentaticn

Choose the correct answer from the options given below,

1.4 B and Conly
2. B, Cand Donly
3, C Dand E only
4, A BandEonly



Frme & € o ey 3 e e SudT & O "R ST ST e
A, TE S R

B, TR ORI

c, gRued

D, 3BT
IEGA]
R Fw e fme ! Y wET S A

1, T A BIFRC
2 AT N D
3 B C, DINE
4 HIAA BIRE

[Question ID = 553][Question Description = 113_0_GP16_SEP22_S2_Q13]
1. 1 [Option ID = 2209]
2. 2 [Option ID = 2210]
3. 3 [Option ID = 2211]
4. 4 [Option ID = 2212]

9)
Grver below are bwo statements
Statement |: The qualitative data are powerful because they are collected from wvery sensitive social,
historical and temporal context
Statement |I: Context sensitivity cannot be completely removead from the qualitative data,
I light of the above statements, choose thie correet answer from the options given below
1, Both Staterment| and Statement |l are true
2, Both Statement | and Staterment || are false
3, Statement | iz true but Statement|| iz false
4, Staterment | iz false but Statemment || s rue
T oY RU e

WY - | UET9RE ool (G LETaE el & i ¢ S e gaagie TG, THeids SR
Tifer® TR ¥ YUied [BaTare |

HYT - || IR 221 Y gdaTefiea ol Q¥ ave © g A8 9T IHdT e |
39 U & e § R iET Reer e uEi e g

1 HYT AR EHIEE R

2, YT | IR G AT B

3. YT | I &, A Ty || IET |
4 Y| T B, Al T 1 T 8|

[Question ID = 554][Question Description = 114_0_GP16_SEP22_S2_Q14]
1. 1 [Option ID = 2213]
2. 2 [Option ID = 2214]
3. 3 [Option ID = 2215]



4. 4 [Option ID = 2216]

10)
MAatch List | with List 11
List | List Il
Research Perspective Discipline
A, Phenomenclogy | Anthropology
B. Ethriography Il Sodolagy
. Ethnemethadology I, Social psychology
0. Symbolic interactionism [%, Philosophy

Choose the correct answer from the options given below:

T A=LEB-IL,C-N,D- 1
2 A= B =ILE -1, B =
= R | = PR e O o |
4 8- B-LC=I,D=1l

T - BT - T g S i,

AT - (R TRE ) T -1 ()
&, TR |, g4 {4513
S EIGELE |, THT R
. AT WOt fdsH 1|, TR HHIER
O, el T S e v, GE I

T A-LEB-ILC-l, D-1v
2 AL B-NLC -1, B
3 A-NLE-IV.C-1, D=1l
A AN B-LC- 11 D=

[Question ID = 555][Question Description = 115_0_GP16_SEP22_S2_Q15]
1. 1 [Option ID = 2217]
2. 2 [Option ID = 2218]
3. 3 [Option ID = 2219]
4. 4 [Option ID = 2220]

11)
I face-to-face communication, thie non-verbal cues provided by thie recelver, can be congidered as

1, Feedback

2, Decading

3, Physical noise

4, 3ymibolic representaion



- TS I U GRIVGEH U U erifes ddra @1 Y ©0 3 I 96Har et
1. 9kg® Eieds)

S e :

3, e TR
4 U ihTHS uidHE

[Question ID = 556][Question Description = 116_0_GP16_SEP22_S2_Q16]
1. 1 [Option ID = 2221]
2. 2 [Option ID = 2222]
3. 3 [Option ID = 2223]
4. 4 [Option ID = 2224]

12)
Communication compatibility between individualsis rooted in

1, Stewardship

2, Interestinmedia
3, Emipathy

4, External influgnce

RIS S TN & O] e aEET &

1, GReTRE
2, WTfeT o T

3 Fagid
4 TRTTHA

[Question ID = 557][Question Description = 117_0_GP16_SEP22_S2_Q17]
1. 1 [Option ID = 2225]
2. 2 [Option ID = 2226]
3. 3 [Option ID = 2227]
4. 4 [Option ID = 2228]

13)
Wkich of the followirig are the advantages of grapevine commiunication?

& Smooth float of adverse comments

B, Knowinig the morale in the organisation

C. Spead of propagandist views

L, To know the important issues faced by the emplayees
E, Aszessment of employee anxities

Choose the correct answer from the options given below,

1.4 Band Conly
2. B, CandDonly
3, Dy, Cand E only
4, B, Dand E only



S -UaTE N & FERRET J O B e

A UG R T T vaE

B, TS H WAE B FHAT

c. FYERD BR®1 e

D, THERI G RT T B 1 a1 Fea gy 95, &1 T
E, GHARI &1 el &1 Hedid-

i B e feed! # ¥ wE SR

1, T A BIFRC
2 AT N D
3, B D, CIANE
4 B, DARE

[Question ID = 558][Question Description = 118_0_GP16_SEP22_S2_Q18]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
4. 4 [Option ID = 2232]

14)
Suggestions for communication with people from different cultures can be

A, Emiphasise your interpratation

B, Forget your own cultural identity

C, Promote an eco-system of mutual respect

D, Kriow the cultural contaxt of other people

E. Always state facts

Chainse the correct answer from the options given kelow,

1.4 Band C only
2. C DandE orily
3. B CandEonly
4.4 Dand Eonly

Py T T o T o 7 TR o O S B I &
A, T SO 6 &

B, U1 W &1 ORP RIS UeaH &1 Yo

¢ IR R GOTH &1 U TR Y RE T v &) e &)
D, &= TN & YR low HaH &1 9T
E, Had fw g1
FH Br T R B g gel e A
1.%;\ Bﬂj’ﬂ?



2 BT C, D RE
3, 9B, CARE
4 HaAA D RE

[Question ID = 559][Question Description = 119_0_GP16_SEP22_S2_Q19]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]
3. 3 [Option ID = 2235]
4. 4 [Option ID = 2236]

15)
Given below are two staterments

Statement I: The new system of communication has facilitated the emergence of an interactive
society,

Statement 1! The rigw system of communication is digital and has Integrated multiple modes of
communication through networks.

Irvlight of the above staternents, choose the correct answer from the options given below

1, Both Staterment | and Statement |l are true
2, Bothy Staterment | and Statement || are falsa
3, Staternent | iz true but Staterment 1] s false
4, Statement | iz false but Statement |l is true

e al®myT Gu e .
WY - | TN B A5 WO - U o1 TH o ST & OIH S8 |

HYT - || TN TS Ut e & o G deadd & e § wew & 9g-fy a¥et &
EEACR AR
35l wyHl & e | My Besdi 8 @ 9giaw g

1 T IR EAT T

2, YT | SN |1 G ST

2 YT | T B, AT Sy | 3T B |
4, T | YT B, i SUT || TH & |

[Question ID = 560][Question Description = 120_0_GP16_SEP22_S2_Q20]
1. 1 [Option ID = 2237]
2. 2 [Option ID = 2238]
3. 3 [Option ID = 2239]



4. 4 [Option ID = 2240]

16)
Ima certaimcode, 467" mieans 'leaves are green’, 485" means 'green is good' and '639' means 'they

are playirig', Which digitstands for 'leaves’ in that code?

1.6
2, T
3.4
4.9

U AT w1 4 467 @1 o UREIEN &, 1485 @1 a4 BT 3=31 8" o1 639 BT 314 4 W ®
g IO Ee T gk d1dm & OTer

1.6
2, ¥
3.4
4.9

[Question ID = 561][Question Description = 121_0_GP16_SEP22_S2_Q21]
1. 1 [Option ID = 2241]
2. 2 [Option ID = 2242]
3. 3 [Option ID = 2243]
4. 4 [Option ID = 2244]

17)
Firnd thie missing nurmber in the series:

2,10, 30, 68, 130, 222, 7

1,350
2 352
3,194
4,704

ST T 5 UG 3 B IE
2,10, 30,68 1230, 222, 7

1,350
2,352
3,194
4,104

[Question ID = 562][Question Description = 122_0_GP16_SEP22_S2_Q22]
1. 1 [Option ID = 2245]
2. 2 [Option ID = 2246]
3. 3 [Option ID = 2247]
4. 4 [Option ID = 2248]



18)

Mumber of bacteria in a coritainer doubles in every one minute, IF the container gets completely
filled with bacteria in 30 minutes, then in bow many minutes 14 t af the container shall be filled

with bacteria?

1,15 minutes
2,16 minutes
2, 28 minutes
4, 25 minutes

Ue U B Siament @@ iR o ven ude U Bhe o 6 Wl 8 | 9 U 20 e & shams
U U e WA, ol [de- FHel 5 U BT 174 HFT S ae| § SR Se

1,15 e
2,16 f{-e
3,28 f{e
4,25 fie

[Question ID = 563][Question Description = 123_0_GP16_SEP22_S2_Q23]
1. 1 [Option ID = 2249]
2. 2 [Option ID = 2250]
3. 3 [Option ID = 2251]
4. 4 [Option ID = 2252]

19)

Certain number of birds are sitting on two trees A and B, Birds sittinig on tree & tall to the hbirds
gitting on tree B, thiat if 2 birds from tree B shift to the tree A, ther we are egual in number, Howewer,
the birdssitting on tree B, tell those sitting on A, that if two birds from your side (tree A) shitt to our
side (tree B), thien we become double tham you (tree A) How many birds are sitting on the two trees

A and B, respectively?

1.8 12
2,10, 14
3.14,10
457

&l gafT A 3T B WX URAT &1 e T T8 | 940 A G a4 GaT, 941 e UYL 98 Ufedl ¥ ®ud 8 &g
T T 2 U&7 67 A TR SYFIRG B1 510 af & M1 OR 376 | U] T g1 =T | T 98 B O 98 Ua,
ATR 38 UM wiwed & 96 TN T U (@4 4) &1 98T BURT o (34 B WHERA B9 &,
I T qe A T T BT S | GFT g4 A R B U g, e uet e £

1.812
2,10, 74
3.4, 10
457

[Question ID = 564][Question Description = 124_0_GP16_SEP22_S2_Q24]
1. 1 [Option ID = 2253]
2. 2 [Option ID = 2254]
3. 3 [Option ID = 2255]
4. 4 [Option ID = 2256]



20)

The average age of students ina class was 15 yvears, When & new boys whiose average age was 12
years 6 months were admitted in the class; the average age was reduced by 6 months, How mariy
studentzwere there in the class ariginally?

1,15
2,20
318
416

UE H&TH S B ST P15 98 & | 99 GETH 5 A0 Toh | G Us im0 (GRean fdar 1 faae]
3 31 12 9% 6 He - o, 1 ST ST 6 HE - BH &1 715 | Hod, DA H b eEd 7

1.15
2,20
3,18
4,186

[Question ID = 565][Question Description = 125_0_GP16_SEP22_S2_Q25]

1.1
2.2
3.3
4. 4

21)

[Option ID = 2257]
[Option ID = 2258]
[Option ID = 2259]
[Option ID = 2260]

If the statemerit, 'Some plants are not carniverous' i given a3 false, then which of the following
could be immediately inferred from it?

A 'Some plantsare carnivarous' i true

B, 'Some plants are carnivorous' is false

C, 'Mo plarits are carnivorous' iz false

D, Al plants are carnivorous' is true

Chose the correct answer from the options given below,

1.8, Cand Doonly
2. A and Doonly
3 A and Canly
4. A Cand D orly



ity v O gt el el B &) g T R, Ut R | Fgffed 3§ Bl o
SITHTAT [GT T HHATE ?

A TE N AlgHET BT & TETe

B, ‘P U HIgHe gl & T &

C. 'BT5 HIURT AIGHEN 6T § e 700 &
D, GO AHET B B, TE 1 8

i BT e feedt # ¥ wE SR A

1 BB, CHRD
2 HAAAHRD
3 HAAAHRC
4, FHFAA, CHRD

[Question ID = 566][Question Description = 126_0_GP16_SEP22_S2_Q26]
1. 1 [Option ID = 2261]
2. 2 [Option ID = 2262]
3. 3 [Option ID = 2263]
4. 4 [Option ID = 2264]

22)
A wige sage has said, "The huriger for kriowledge is more difficult to remove than the huriger for

food, Theretare, one shiould stick to the foed," Which fallacy is committed in this argument?

1. Begging the Question

2, False Dilemima

3, lgnoratio elenchi (rrelevant conclusion)
4, Appeal to Emotion

TS dfadH Hd &1 HYF £ ¢ TH BT YW BT of ST Wi S HE & gf v o e sieq
£ 3o Sl ©f Wi U (i@ @H o190 59 ad § S -9 d a1y 87

1, W T S G

2, A T

3, SUR AT ge=d (ergT e
4, S[TET STIE

[Question ID = 567][Question Description = 127_0_GP16_SEP22_S2_Q27]
1. 1 [Option ID = 2265]
2. 2 [Option ID = 2266]
3. 3 [Option ID = 2267]
4. 4 [Option ID = 2268]

23)
"We shiould value the BMoon more thian the Sun because thie Moon shines when it s dark whiergas

the Sur shineswhen there is light aryway This staternent commits the fallacy of;

1, Appeal to Emotion

2, Fallacy of False Cause
3, Falze Dilemma

4, Equivocation



B R BT SUET G B i Aew SRy wulf TRAT SERTE N UR We BT &, Se i 9
VST B O UBTR BT B 59 ®4F H Hefiet asam e

1 AT H U ITE

2 T BRI G ID &N
3 AT T

4, G

[Question ID = 568][Question Description = 128_0_GP16_SEP22_S2_Q28]
1. 1 [Option ID = 2269]
2. 2 [Option ID = 2270]
3. 3 [Option ID = 2271]
4. 4 [Option ID = 2272]

24)
Giver below are bwo statemerits, orie is labelled as Assertion A and the otherislabelled as Reason

R

Assertion A : According to classical Indian Logicians (Maiyavikas), all fallacies are material fallacies,
Reason R:According to Mydya, Syllogism is deductive-inductive arid formal-material,

I light of the above staternents, choose the correct answer from the opfions given below

1, Both A arid R are true and R s the corract explanation of A

2, Both A and R are frue but Ris MNOT the correct explanation of &
3 Aistrue butRis false

4 Aisfalse butRis true

T & Ty B g UH YT (Assertion &) & T 1 FGT £ T g5 395 TR (Reason R)
%Wfﬂ
BT A WIS T URA T ahTad! (210m) & SHuR 4 qd-6 N didd dh aN el & |

HR R 2T 00 & SR AH-a68 FEd - (e R euie - Sii@ elare |
3 S & e § A Reedt § 8 el SR e g S

1 AARREFI T E AR, AT e TS E

2 AARREFI T E, iR, AT T8 ARSI 61 &
3 AT S, AR STTE

4 A AT R, ABTRTT B

[Question ID = 569][Question Description = 129_0_GP16_SEP22_S2_Q29]
1. 1 [Option ID = 2273]
2. 2 [Option ID = 2274]
3. 3 [Option ID = 2275]
4. 4 [Option ID = 2276]



25)
Which of the following statemerits are true regarding Myaya (Classical Indian Schiool of Logic) view
of hetrabhasa (fallacy)

A lbmeans that middle term appears to be g reason but s niot a valid reasan,

B All fallacies are material fallacies,

C, Whien ar infererice is based not on causation but on uniformity of co-axisterice, it leads toa
fallacy,

D, Fallacies occur when ariy of the five characteristics'of a middlle term are violated,
Choose the correct answer from the options given below,

1.4 Band Conly
2,4 B and Donly
3. B CandDonly
4 A8 CandD

P & -0 &Y= = @@ YREE 9@ 90) § eaTHyg 9 ad & gl T gg

A 3gET Y & [ 98 U 9% Ydld e1aT 8 Ued 44 9 TR g

BN aH g, MRm ah amM e &

C 9 H AT SRU-ET TS U7 IRE 7 5197 Ue-3fiE B uEEgd IR TR gt e
SO TGN J0H T8

D, Tda N 39 U & 309 81 & 9 T30 & 1919 Fasarel # e swT e e

BT T et B B aet SR A

| HAAA BHRC
2 HAAABHRD
3, HAAB, CHRD
44 B CIRD

[Question ID = 570][Question Description = 130_0_GP16_SEP22_S2_Q30]
1. 1 [Option ID = 2277]
2. 2 [Option ID = 2278]
3. 3 [Option ID = 2279]
4. 4 [Option ID = 2280]

26)
Which of thie followirg s rotan essential compoenent reguired for video-conferencing system?

1. Video Cameara
2, Display Device
3, Telephione

4, pMicrophorie



AT & O Sgrdiad & e IR ey & R U Seeys 126 181 67

1 FifEg
> fegw feaEg
3, 2

4 HEEEHH

[Question ID = 571][Question Description = 131_0_GP16_SEP22_S2_Q31]
1. 1 [Option ID = 2281]
2. 2 [Option ID = 2282]
3. 3 [Option ID = 2283]
4. 4 [Option ID = 2284]

27)
Which of the following is MNOT correct regarding Digilocker, a key initiative under 'Digital India’

programme of Government of India?

1, Indian citizens who sign up for g Digilocker account get g dedicated doud storage space that is
limited to their Aadhar number,

2.0t aims o eliminate the use of physical documents and provide access to their digital
documents anytime, anywhere and share it onling,

3, Citizens can self-upload documents and digitally sign them using the e-sign facility,

4, Theslogan of Digilocker is "My documents, Ariytine, Anywhiere

e =

a4 € AT 4R TRER & G - Riied SR & s e viw vee - Riaior s
ey T gel el 87
1. feReli®? T & R0 SR S 916 YRAE THRS FH w98 TR WY Ui SR €,
S I YR T e BT e | -
2. §H®T 39 Mfd Sxds & JuhT @) WHI & R G Guim! & el o wey <
STg @ W1 UgH WaT XM 4T 8 e Wil B8 |
3, AWIRE W SfUeiie $R Uhd B SN 5-H- QAT 61 S9ENT B [BRres &9 ¥ gRIEN o3
e £ |
4, ERlET N1 ST H § - AR SHgHeE, TR, THeaR (@i 7Y e, T o
g, we |

[Question ID = 572][Question Description = 132_0_GP16_SEP22_S2_Q32]
1. 1 [Option ID = 2285]
2. 2 [Option ID = 2286]
3. 3 [Option ID = 2287]
4. 4 [Option ID = 2288]



) Mary carmputer users are worried about malware, Which of the following are two examples of
malware?
A, Firewall
B, Wiarm
C, Routar
D Wirus

Chose the correct answer from the options given below,

1.4 and Conly
2. A and Bonly
3 Band Doanly
4, Cand Doonly

I & S JUUNTHA Hedd & §R # BT ¢ | FEifEd 3 9 $E #10de & af gep
g7

A, BT

B g

¢ IgeR

D, a1RE

e Bu T R O e SR

1, EHaT AR C
2, AT AN B
3, AR AR D
4, Ha0 C AR D

[Question ID = 573][Question Description = 133_0_GP16_SEP22_S2_Q33]
1. 1 [Option ID = 2289]
2. 2 [Option ID = 2290]
3. 3 [Option ID = 2291]
4. 4 [Option ID = 2292]



29)
Corisider the following spreadsheet:

A B c
1 4
2 i 2
3 ¥
4 8 9
5 9
6

If the formula = $4%$3 + B2 in cell C4is copied to cell €5, then what is the value in cell C57

1.2
2.8
3.7
417

WO [0 [ e | s |
i

G| W | bW g

7% e @ BN Wa T G = 3433 + B2 BTG U F UG [BOrame a1 9w 9is 3§ 79 @) 79
LI

1.9
2.8
37
417

[Question ID = 574][Question Description = 134_0_GP16_SEP22_S2_Q34]
1. 1 [Option ID = 2293]
2. 2 [Option ID = 2294]
3. 3 [Option ID = 2295]
4. 4 [Option ID = 2296]



30)
Wi ch of thie fallowirig are the principal components of the CPU of 3 computer system?

A ALL (Arithmetic-Logic Unit)

B, CU (Contral Unit)

C, Processor Registers

D, SSD (Solid-State Drive)

E. WRAM (Video RAN)

Choose the cofrect answer from the opfions given below!

1, A B and Doonily
2 A Band Conly
3 C DandEonly
4. B, Cand Doonly

o R

FEfIET & § &Y Uh SREs YUl & WG ged B 7
A TTAY, (HYARE - Tierd I

B, H1 @HE 4fe)

C. igwe ey

D. UHUHEl @IRS-%e gRa)

£, d1aRuTH, [difedrm)

e B e feed! # O wE SR

1. HAAA BIRD
2, AT A BERC
3 B C, DIANE
4, %0 e CIRD

[Question ID = 575][Question Description = 135_0_GP16_SEP22_S2_Q35]
1. 1 [Option ID = 2297]
2. 2 [Option ID = 2298]
3. 3 [Option ID = 2299]
4. 4 [Option ID = 2300]

31)
Which among the following pesticides would have the |east chance of bicaccumulation in food

chiains?

1, Chlordane
2, Aldrin

3, Carbaryl
4, Endrin



G g H FHiEd 7 ¥ 6y TR SR & A S GgE S HEA e

1 FNET
2. ufEA
3 RN
4. Tf5

[Question ID = 576][Question Description = 136_0_GP16_SEP22_S2_Q36]

1.1
2.2
3.3
4. 4

32)

[Option ID = 2301]
[Option ID = 2302]
[Option ID = 2303]
[Option ID = 2304]

Which of thie followirig is envisaged in the Sustainable Deveopment Goals?

1, By 2020, conserve at least 50% of coastal and marine areas,

2, By 2030, reduce by one-third of the per capita global food waste at the retail and consumer
lewels,

3, By 2030, double the glabal rate of improvementin energy efficiency

4, By 2030, reduce by one-fifth the premature mortality from non-communicable diseases

T G weal # RyfieT 8 € us aResa T &1 67

1,89 2020 T, B T HH 50% T 1T AR T &1 BT I8

2. 99 2020 7%, Fa % IO SRR UlerE Afde O 94l 3 UF RER a9 o3 A
3, TN 2030 T, 9] G&T A TR &1 385 53 B G B!

4,98 2030 7%, TR-IH WS I 4 TH90E T 5 4 Uidd B 9% &8 arl

[Question ID = 577][Question Description = 137_0_GP16_SEP22_S2_Q37]

1.1
2. 2
3.3
4. 4

33)

[Option ID = 2305]
[Option ID = 2306]
[Option ID = 2307]
[Option ID = 2308]

Which among the following hazards can occur due to anthropogenic causes?
A, Cyclores

B Mudear Disaster

C. Floods

D, Volcanpes

E. ForestFires

Choose the corfrect answer from the options given below,

1, A B and Doonly
2, B, C and Doonily
3, B Dand Eonly
4. B, CandEonly



fone R

FrafifEd &7 € @i AFE e SR d JO9 e 96 & 7
A, T

B, T T SaaT

c 9

D, ST T
E, STET & T 3
FH T T Reen § Y gEl SR

1 HaaA BIR D
2 HAABR, CHRD
3, BB, D ARE
4, HAR, CARE

[Question ID = 578][Question Description = 138_0_GP16_SEP22_S2_Q38]
1. 1 [Option ID = 2309]
2. 2 [Option ID = 2310]
3. 3 [Option ID = 2311]
4. 4 [Option ID = 2312]

34)
Arrange the following water bodies in increasing order of the quantity of freshiwater they hold,

A, loeand show

B. Freshwyater lakes and reservoirs

CoGrourdwater

D, Rivers and:straams

Chogose the correct ariswer from the options given below

1. DB CoA
2B CDA
3B DALC
4 0B A C



AR &1 HTH1 1 YR 5 S o8 H FH AR sic Fa ol oud Y o -
A T (3T TR & @

B, TR &1 el SR SeRTET &7

C, YA W

D, IR 3R ~eT- 4R

i BT 7 fdedt # ¥ wE SR

1.0BCA
2B C DA
3B DAC
4 0B AC

[Question ID = 579][Question Description = 139_0_GP16_SEP22_S2_Q39]
1. 1 [Option ID = 2313]
2. 2 [Option ID = 2314]
3. 3 [Option ID = 2315]
4. 4 [Option ID = 2316]

35)
Giver below are bwo statemerts, one is labelled as Assertion A and the otherislabelled a5 Reason

R
Assertion A: Most oyilones causewidespread damage in coastal areas,

Reason R: Energy of most cyclones increases after |andfall,

I light of the abowe statements; choose the most appropriate ariswer from the options given
below

1, Both A anid R are correct and R is the correct explanation of A

2, Both A arid R are correct bt R s MOT the correct esqlanation of A
3 Aliscorrect but R is not correct

4, Aisnotcorrect byt R is correct

T a By BE TR UF AHYT (Assertion &) & T G £ 71 351 305 TR (Reason R)
HEgH;
YT A AT TwaTl © dead aa 8 4 i mAasgE e e |

TR R WA & 906 G gwmda B Il A dls eria
ST B & e 1 AT Reedl § 8 Tel ST @1 997 $ g

1 AARREFI TR 8 R AT He e |

2, AR RGH U 6 UIR R, A DI Hol YR 7l & |
3 ATET R, AT R TET TR g |

4 ATETTRIE, TR BT B

[Question ID = 580][Question Description = 140_0_GP16_SEP22_S2_Q40]
1. 1 [Option ID = 2317]
2. 2 [Option ID = 2318]
3. 3 [Option ID = 2319]
4. 4 [Option ID = 2320]



36)
Some of the most notable universities thiat evolved during ancient period in India were situated at;

A, Takshashila

B, Vikramshila

C, lagaddala

O, Odantapuri

E. Malarida

Choose the cofrect answer from the opfions given below!

1.ABCDandE
2.4 Band Eonly
3. A B CandEonly
4 A B DandE only

YRE H WEH @l 3w &3 a1 &8 Hd14d S 4y [Fee ol g ¢
A, &R

B, [AgrafRreT

C, STGReT]

D, FETT

E. ATHaT

i B e fwedt # ¥ wE SR A

1. ABCDINE
> BT A BHRE
3, HATA B CARE
4, HAA R D ANE

[Question ID = 581][Question Description = 141_0_GP16_SEP22_S2_Q41]
1. 1 [Option ID = 2321]
2. 2 [Option ID = 2322]
3. 3 [Option ID = 2323]
4. 4 [Option ID = 2324]

37)
Irv pursuarice of the Mational Cound| of Teacher Education Act 1993, NCTE was established in the

year,

1.1995
2, 1993
3.1994
4, 1996



AT S RenuReG ST, 1993 § TEU AN, &1 e e § ®gATEs 417

1,1995
2,1993
3, 1954
4, 1996

[Question ID = 582][Question Description = 142_0_GP16_SEP22_S2_Q42]
1. 1 [Option ID = 2325]
2. 2 [Option ID = 2326]
3. 3 [Option ID = 2327]
4. 4 [Option ID = 2328]

38)
SWAYAR tries to take the best teaching-learning resources toall students through

1, Seminars

2, Wideo lactures

3, Clagsroom teaching
4, Coriferences

W (swavan) FEfieT 7 By mmay O udion Rem-afim gunRET o 3 faddt e o
EIEG AR ERERINEH

1, YTt
o I AR
3, & H R
4, T

[Question ID = 583][Question Description = 143_0_GP16_SEP22_S2_Q43]
1. 1 [Option ID = 2329]
2. 2 [Option ID = 2330]
3. 3 [Option ID = 2331]
4. 4 [Option ID = 2332]

39)
Following are thie characteristics of Non-Corwentional lgarning:

A, Itis teacher oriented,

B, Itis for improvement of guality,

C. Itis cost effective,

O [tis linked to emplayment.

E ltizoncampus

Choose the correct answer fraom the opfions given below,

1.4 Band Conly
2, B CandDonly
3, A Cand D only
4, C, Dand Eonly



RO i & e g
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B, 3T 35 20 0w § TR AR e
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D, TE AR A TEfAT g
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1, T A BIFRC
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[Question ID = 584][Question Description = 144_0_GP16_SEP22_S2_Q44]
1. 1 [Option ID = 2333]
2. 2 [Option ID = 2334]
3. 3 [Option ID = 2335]
4. 4 [Option ID = 2336]

40)
Grver below are thwo staterments

Statement |: An ethical framewaork of sustainable deveopment provides normative guidance
regarding our relationship with enviranment,

Statement II: Anthropocentric model iz misleading a3 evident from its environmental
conseqguences,

Imlight of the above staternents, choose the correct answer from the options given below

1, Both Staterment | and Statement || are trug
2, Bothy Statement | and Staterment || are false
3, Staternent | iz true but Statemeant || iz falze
4, Statemment | iz false but Staterment || is trye

&l @y Gu e g .

WY - | T AT &1 A0e SUE AR UYiaR & Y Y9 & R J JES E JFEgT waE
HUE |

HYT - ||| TS ad Hag YIS 8, 99 7 396 ggieeiy g g gy g |

I eyl & erelle | e el & o wgT IR g

1.5 IR G TR

2, YA | R G T B

2. Y| g &, A Ty || IET & |
4T TR, AT T 1 T B |

[Question ID = 585][Question Description = 145_0_GP16_SEP22_S2_Q45]
1. 1 [Option ID = 2337]



2. 2 [Option ID = 2338]
3. 3 [Option ID = 2339]
4. 4 [Option ID = 2340]

Topic:- 13_GP_30SEPT22_SH1_S2_C

1)
Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radiocactive substances. Pierre and Marie's amicable

collaboration later helped to unlock the secrets of the atom. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903,

Marie was born in Warsaw, Poland on 7 November 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality. Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish, Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie's feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne. She was the first woman to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911. Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world,

At what age did Marie Curie receive her first Nobel prize?

1.36 years
2. 46 years
3.56 years
4. 44 years
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[Question ID = 586][Question Description = 146_0_GP16_SEP22_S2_Q46]
1. 1 [Option ID = 2341]
2. 2 [Option ID = 2342]
3. 3 [Option ID = 2343]
4. 4 [Option ID = 2344]

2)



Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radioactive substances. Pierre and Marie's amicable
collaboration later helped to unlock the secrets of the atom. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw, Poland on 7 November 1867, the daughter of a Physics teacher, At an early
age, she displayed a brilliant mind and a blithe personality. Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women, Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish. Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne, She was the first woman to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911, Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work, Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world.

After how many years of her marriage did Marie Curie lose her husband?

1.11 years
2. 39 years
3. 28 years
4,6 years
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[Question ID = 587][Question Description = 147_0_GP16_SEP22_S2_Q47]
1. 1 [Option ID = 2345]
2. 2 [Option ID = 2346]
3. 3 [Option ID = 2347]
4. 4 [Option ID = 2348]

3)



Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radiocactive substances. Pierre and Marie's amicable
collaboration |ater helped to unlock the secrets of the atomn. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw; Poland on 7 November 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality, Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women, Determined to recsive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory, A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1206. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish, Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally begar to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne. She was the firstwornan to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911. Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world.

What made Marie Curie study at Sorbonne University?

1. University in Warsaw did not allow her admission.

2. She wanted to work with Pierre Curie,

3. She wanted to work on Radium,

4. She did not enjoy learning at an early age in Warsaw.,
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[Question ID = 588][Question Description = 148_0_GP16_SEP22_S2_Q48]
1. 1 [Option ID = 2349]
2. 2 [Option ID = 2350]
3. 3 [Option ID = 2351]
4. 4 [Option ID = 2352]

4)



Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radioactive substances. Pierre and Marie's amicable
collaboration later helped to urlock the secrets of the atorm. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw, Poland on 7 Movember 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality, Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, howewver, when
she learned that the university in Warsaw was dosed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie, Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish. Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne. She was the first woman to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911. Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world.

Which of the following elements is widely used in treatment of Cancer?

1. Uranium
2. Radium

3. Thorium
4. Plutonium
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5)



Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radioactive substances. Pierre and Marie's amicable
collaboration later helped to unlock the secrets of the atom. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw, Poland on 7 November 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality. Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish, Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne, She was the first woman to be given a professorship at the world-
farmous university. She received her second Noble Prize in Chemist for isolating radium, in 1911, Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical woarld,

The passage shows Marie Curie to be a great scientist who

1. was amiable in nature.

2. had indomitable spirit and dedication to science,
3. was emotionally vulnerable,

4. became disillusioned after her husband's death.
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